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ВЫПОЛНЕНИЕ И ОФОРМЛЕНИЕ письменных контрольных работ:

1. Выполнять письменные контрольные работы следует в отдельной тетради или на листах формата А – 4.
2. Каждое контрольное задание предлагается в 3 вариантах (А, В, С). Студент должен выполнить один из трех вариантов в соответствии с последними цифрами студенческого шифра (зачетной книжки): 1 ,2 ,3 - вариант А; 4, 5, 6 – вариант В; 7, 8, 9, 0 – вариант С.
3. Контрольные работы должны быть написаны аккуратно, четким почерком. При выполнении контрольных работ оставляйте широкие поля для замечаний, объяснений, указаний рецензента. 
4. Контрольные работы должны быть выполнены в той последовательности, в какой они даны преподавателем. Обязательно необходимо записать номер контрольной работы, ее вариант, условие задания и ответ.
5. К выполнению контрольной работы студенту следует приступить лишь после усвоения грамматических явлений, знание которых необходимо для правильного выполнения данной контрольной работы (эти грамматические явления перечислены в начале контрольной работы).
6. Выполнив контрольную работу, студент, прежде чем отправить ее на рецензию, должен проверить:
a) не пропущен ли целый раздел контрольной работы или какое-нибудь предложение в переводе и упражнениях;
b) точно ли сделан перевод текста с английского на русский язык и соблюдены при этом строй и стиль русской речи; нет ли бессмысленных, непонятных предложений;
c) нет ли орфографических ошибок или ошибок в текстах на английском или русском языках.
7. Выполненные контрольные работы направляйте для проверки и рецензирования в университет в установленные сроки, т.е. не позже, чем за две недели до начала экзаменационной сессии.

8. Если контрольные работы выполнены без соблюдения указаний или неполностью, они возвращаются студенту без проверки.
9. При получении проверенной контрольной работы, ознакомьтесь с замечаниями, проанализируйте отмеченные в работе ошибки, проработайте заново неусвоенный Вами учебный материал, сделайте работу над ошибками в конце данной контрольной работы.
КОНТРОЛЬНАЯ РАБОТА № 1

Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to get higher education, types of studying, entrance, competitive, applicant, teaching, tutorial, to attend, to miss, to last, subject, well-equipped, to take notes, to divide, term, to receive, stipend, scholarship, service, to offer, to define, fee, citizen, to present, free of charge, to provide.

Лексика
I. Выберите слово, близкое по значению данному:

	1. studying
	a) teaching
	b) schooling
	c) dividing

	2. to finish
	a) to become
	b) to prepare
	c) to complete

	3. to get
	a) to define
	b) to receive
	c) to offer

	4. stipend
	a) diploma
	b) certificate
	c) scholarship

	5. branch
	a) part
	b) service
	c) field


II. Выберите слово, противоположное по значению данному:

	6. type
	a) shop
	b) degree
	c) kind

	7. to attend
	a) to divide
	b) to present
	c) to miss

	8. to accept
	a) to assist
	b) to invent
	c) to refuse

	9. longer
	a) bigger
	b) shorter
	c) hotter

	10.beginning
	a) situation
	b) reception
	c) completion


III. Выберите английское словосочетание, соответствующее русскому:

	11.писать конспекты (лекции)
	a) to take notes

b) to do exercises

c) to offer lectures

	12.посещать лекции
	a) to read lectures

b) to attend lectures

c) to use lectures

	13.консультации
	a) practical classes

b) seminars

c) tutorials

	14.представить дипломную работу
	a) to take a graduation thesis

b) to present a graduation thesis

c) to make a graduation thesis


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) pay
	b) fee
	c) degree
	d) cost

	16.
	a) to join
	b) to link
	c) to support
	d) to connect

	17.
	a) apparatus
	b) device
	c) instrument
	d) set

	18.
	a) college
	b) institute
	c) correspondence
	d) university


V. Найдите слово, объединяющее данную тематическую группу:

	19.
	a) applicant
	b) student
	c) department
	d) institute

	20.
	a) chemist
	b) scientist
	c) biologist
	d) ecologist

	21.
	a) subject
	b) tutor
	c) education
	d) college

	22.
	a) good
	b) mark
	c) excellent
	d) satisfactory


VI. Из данных слов выберите то, которое закончит предложение:

23. Entrance to the university or the institute is … examinations.

a) common 
b) unusual 

c) competitive

24. Applicants who … the examinations become the first year students.

a) pass 

b) fail 

c) take 

25. Any citizen in Russia can get secondary or high ….

a) schooling
b) studying

c) education

26. The students … the experimental work in the laboratories and shops of the university. 

a) train

b) attend

c) carry out

Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)
I. По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. различие
	a) differ

b) different

c) difference

	2. академик
	a) academy

b) academic

c) academician

	3. абитуриент, претендент
	a) applicant

b) application

c) applicable

	4. переписка, корреспонденция
	a) correspondent

b) correspondence

c) correspond

	5. демократический
	a) democrat

b) democracy

c) democratic


II. Из данных предложений выберите предложения с прилагательными в сравнительной и превосходной степени и переведите их:

6. Students get higher education at the institutes and universities.

7. The best students receive different types of scholarship.

8. Russia has the most democratic system of education: any citizen can get a secondary or higher education.

9. Most of the students do not pay for their studying.

10. Moscow University is one of the oldest universities in Russia.

III. Прочитайте следующие предложения, поставьте глагол “to have” в Past Simple и Future Simple в утвердительной и вопросительной форме:

11. Applicants have entrance examinations in August.

12. The students have 3 lectures on Mondays.

13. This Institute has a correspondence department.

14. The University has its own newspaper which describes the students’ life.

15. The students of a technical college have special subjects.

IV. Какое русское предложение соответствует данному английскому и почему:

16. This professor gave very interesting lectures on microcomputers.

a) Этот профессор читает интересные лекции по микрокомпьютерам.

b) Этот профессор прочитал интересные лекции по микрокомпьютерам.

c) Этот профессор прочитает интересные лекции по микрокомпьютерам.

17. Russia provides the students with everything necessary for their studies.

a) Россия обеспечила своих студентов всем необходимым для учебы.

b)  Россия обеспечивает своих студентов всем необходимым для учебы.

c) Россия обеспечит своих студентов всем необходимым для учебы.

18. They will have a course of lectures on microelectronics.

a) У них был курс лекций по микроэлектронике.

b) У них будет курс лекций по микроэлектронике.

c) У них есть курс лекций по микроэлектронике.

19. There were many interesting subjects in our first year.

a) На первом курсе у нас много интересных предметов.

b) На первом курсе у нас было много интересных предметов.

c) На первом курсе у нас будет много интересных предметов.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	Students get higher education at the institutes and universities. There are more than 850 institutes and universities in Russia with three types of schooling: full-time, art-time or evening at correspondence.

	2.
	Entrance to the University or to the Institute is by competitive examinations which is open to anyone between the age of 17 to 35 who finished a secondary school.

	3.
	In summer beginning from the end of May up to the middle of August the applicants take the entrance examinations in different institutions. Those who passed the exams become the first year students.

	4.
	The complete course of studying lasts 5 years, but in some of them it may be a little longer or shorter.

	5.
	At the institutes and universities teaching takes the form of lectures, classes, seminars and tutorials. The students attend lectures on different 

	
	subjects and take notes of them. They have practical work in laboratories and shops of the institutes. The laboratories are well-equipped with modern apparatus. There is also a library at each institute where the students can take the necessary literature.

	6.
	The academic year of the university or the institute is divided into 2 terms. The students take examinations at the end of each term or a year. On completion of studies the undergraduate presents a graduation thesis or passes final state examination, receives a specialty and begins to work in different branches of our industry or national economy.

	7.
	Russia has the most democratic system of education: any citizen can get a secondary or higher education. Most of schooling  is free of charge and deserved students receive different types of scholarship.


Пояснения к тексту:

correspondence education (department) – заочное обучение (отделение)

competitive – конкурсный
to take an examination – держать экзамен
to pass an examination – сдать экзамен
free of charge – бесплатный
laboratories and shops – лаборатории и мастерские

a graduation thesis – дипломная работа
undergraduate – выпускник

I.    Какое из данных утверждений выражает основную идею текста?

a) Российская система образования является единой общегосударственной системой.

b) Система высшего образования в России.

c) Система образования в России - самая демократическая система.

II.   Запишите номер абзаца, в котором вы найдете ответ на вопрос:

What do the universities and institutes provide the students with?

III. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. Academic year, examinations and presentation of a graduation thesis.

2. Enrolling in the institute.

3. Different forms of teaching.

4. Types of studying.

IV.  Запишите заголовок к тексту (по-английски).

V.   Переведите письменно 5, 6, 7 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 1

Вариант B
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

former, department, developing, research, leading, scientific, course, to train, automation, to equip, fast, level of training, to provide, to offer, apparatus, device, to create, to assist, to depend, to take part in, to educate, to complete.

Лексика

I. Выберите слово, близкое по значению данному:

	1. to receive
	a) to give
	b) to take
	c) to get

	2. field
	a) task
	b) branch
	c) chance

	3. to equip
	a) to divide
	b) to provide
	c) to produce

	4. to help
	a) to apply
	b) to differ
	c) to assist

	5. apparatus
	a) device
	b) advice
	c) progress


II. Выберите слово, противоположное по значению данному:

	6.  high
	a) vast
	b) low
	c) wide

	7.  to find
	a) to take
	b) to bring
	c) to lose

	8.  to offer
	a) to create
	b) to use
	c) to refuse

	9.  slow
	a) fast
	b) far
	c) wide

	10. to pass exams
	a) to prepare for exams
	b) to fail exams
	c) to read for exams


III. Выберите английское словосочетание, соответствующее русскому:

	11. посещать практические занятия
	a) to accept classes

b) to use classes

c) to attend classes

	12. вечернее обучение
	a) full-time studying

b) part-time studying

c) correspondence studying

	13. выполнять эксперимент
	a) to take experiment

b) to give experiment

c) to carry out experiment

	14. получать диплом
	a) to confer a diploma

b) to prepare a diploma

c) to get a diploma


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) faculty
	b) department
	c) management
	d) lecture

	16.
	a) course of study
	b) security
	c) academic year
	d) level of training

	17.
	a) Bachelor
	b) Diploma
	c) Master
	d) society

	18.
	a) Institute
	b) University
	c) College
	d) Law


V.  Найдите слово, объединяющее данную тематическую группу:

	19.
	a) professor
	b) subject
	c) lecture
	d) education

	20.
	a) engineer
	b) economist
	c) physicist
	d) speciality

	21.
	a) to teach
	b) university
	c) to learn
	d) to train

	22.
	a) electronics
	b) science
	c) microelectronics
	d) economics


VI. Из данных слов выберите то, которое закончит предложение:

23. Students must … lectures on different subjects.

a) return 

b) begin 

c) attend

24. Many students take part in students’ research ….

a) faculties 

b) clubs 

c) societies

25. Russian Universities … a five year course of study.

a) educate 

b) complete 
c) offer

26. The students of our University carry out experimental work in ….

a) lectures 

b) laboratories 
c) libraries

Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)

I. Образуйте однокоренные существительные от данных глаголов, используя стоящие в скобках суффиксы, и переведите их на русский язык:

1. to depend (-ence)

2. to demonstrate (-ion)

3. to assist (-ance)

4. to equip (-ment)

5. to correspond (-ence)

II. Прочитайте следующие предложения, переведите их и поставьте сказуемое в Past Simple (не забывайте о правильных и неправильных глаголах):

6. Our university consists of 7 colleges.

7. The students attend lectures and classes.

8. Many students make experiments and carry out research work.

9. It usually takes 5 years to get a diploma.

10. Most of students are fond of sports.

IV. Закончите предложения, выбрав правильную форму глагола, и 

переведите на русский язык:

11. I … at TSURE.

a) study 

b) studied 
c) will study

12. The Institute … 3 faculties.

a) had 

b) have 
c) has

13. The institute … specialists in 11 specialities.

a) will train 
b) trained 
c) trains

14. There … several hostels, cafes at our University now.

a) is 


b) are 
c) was

15. The students … their free time at student club.

a) spent

b) spend 
c) spended

V. Какое из данных предложений соответствует русскому:

16. У студентов есть лекции, практические занятия и лабораторные работы.

a) Students will have lectures, classes and laboratory works.

b) Students have lectures, classes and laboratory works.

17. Почти все студенты нашей группы были членами этого клуба.

a) Almost all the students of our group were the members of this club.

b) Almost all the students of our group are the members of this club.

18. У нас будет много интересных предметов в этом году.

a) We’ll have a lot of interesting subjects this year.

b) We had a lot of interesting subjects this year.

19. У них был курс лекций по менеджменту.

a) They have a course of lectures on management.

b) They had a course of lectures on management.

20. У студентов проводятся тесты и экзамены в конце каждого семестра.

a) Students take their tests and exams at the end of each term.

b) Students took their tests and exams at the end of each term.
Понимание прочитанного

Прочитайте и переведите текст, вдумайтесь в его содержание, пострайтесь понять его, чтобы выполнить задания после текста.

	1.
	TSURE (former Kalmykov Radio-Engineering Institute) was founded in 1952. First it was housed in one building in Chekhov Street. There were only three faculties and 29 departments with a lot of good specialists working at them. The Institute trained engineers in 11 specialities.

	2.
	Nowadays TSURE is a young, fast developing and highly specialized institution of higher education. It offers three types of studying: full-time, part-time or evening and correspondence.

	3.
	The University consists of 7 colleges: College of Radio Engineering, College of Automation and Computer Science, College of Electronics and Electronic Equipment Engineering, College of Economics, Management and Law, College of Natural Sciences, College of Information Security and College of Correspondence Education. The University offers a five year course of study. During the academic year the students attend lectures, and classes, do laboratory work. They take their tests and examinations at the end of each term. The numerous laboratories are equipped with modern apparatus, computers to provide a high level of education. The students make experiments and carry out the research work. The University has a scientific library with 930000 educational scientific textbooks, 5 reading rooms for studying. 

	4.
	Since 1995 full-time students may receive Bachelor of Engineering Degree after 4 years of study. It usually takes 5 years to get a diploma in Engineering for full-time students and 6 years for evening or correspondence students.

	5.
	The University has 6 hostels, several buffets, cafes, student club where the students like to spend their free time. Most of the students are fond of sports. There are three gymnasiums with good sporting equipment and several sports grounds.

	6.
	TSURE is known as one of the leading Russian Universities in the following branches of science as Multiprocessor Computing Systems, Computer Networks, Microelectronics, Hydroacoustics and others. 


Пояснения к тексту:
College of Radio Engineering – РТФ 

College of Automation and Computer Science – ФАВТ 

College of Electronics and Electronic Equipment Engineering – ФЭП  

College of Economics, Management and Law – ФЭМП 

College of Natural Sciences – ЕГФ 

College of Information Security – ФИБ 

College of Correspondence Education – ФБФО 

classes – практические занятия
Bachelor of Engineering Degree – степень бакалавра
I. Есть ли в тексте ответы на поставленные вопросы (да / нет). Укажите номер абзаца.

1. How many buildings is the University housed now?

2. Where can the students take their textbooks?

3. When do the students take their tests and exams?

4. What may the students receive since 1995?

5. How do the students spend their free time?

II. В каком из абзацев вы найдете ответ на вопрос:

What provides a high level of training at our University?

III. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. The structure of the University and the course of study.

2. The foundation of the Institute.

3. The types of studying.

4. Students’ life.

5. Receiving Bachelor Degree and a Diploma.

IV. Переведите письменно 3, 4, 5 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 1

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

prestigious, to denote, to afford, length, degree, to graduate, undergraduate, postgraduate, to confer, to award, to offer, to govern, to suggest, range, chapel, fellow, church, to mix, member, to found, to supply, to apply, to establish, to mean, rowing, punting, recent, similar, to refuse, applicant. 

Лексика

I. Выберите слово, близкое по значению данному:

	1. to confer
	a) to take
	b) to receive
	c) to award

	2. to offer
	a) to create
	b) to suggest
	c) to apply

	3. to found
	a) to establish
	b) to provide
	c) to supply

	4. to denote
	a) to attend
	b) to mix
	c) to mean

	5. prestigious
	a) various
	b) elitarian
	c) local


II. Выберите слово, противоположное по значению данному:

	6. recent
	a) usual
	b) several
	c) past

	7. different
	a) famous
	b) known
	c) similar

	8. to attend
	a) to miss
	b) to attract
	c) to mix

	9. to suggest
	a) to agree
	b) to refuse
	c) to denote

	10. graduate
	a) applicant
	b) student
	c) postgraduate


III. Выберите английское словосочетание, соответствующее русскому:

	11. присуждать степень
	a) to take a degree

b) to get a degree

c) to confer a degree

	12. члены совета колледжа
	a) students of a college

b) pupils of a college

c) fellow of a college

	13. следовать традициям
	a) to cling to the traditions

b) to make the traditions

c) to use the traditions

	14. глава колледжа
	a) a head of a college

b) a master of a college

c) a teacher of a college


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) degree
	b) ceremony
	c) course
	d) management

	16.
	a) university
	b) college
	c) institute
	d) demonstration

	17.
	a) analogous
	b) famous
	c) great
	d) outstanding

	18.
	a) Diploma
	b) Master
	c) School
	d) Bachelor


V. Найдите слово, объединяющее данную тематическую группу:

	19. 
	a) undergraduate
	b) Oxbridge
	c) postgraduate
	d) graduate

	20. 
	a) profession
	b) scientist
	c) philosopher
	d) physicist

	21. 
	a) university
	b) education
	c) college
	d) institute

	22. 
	a) degree
	b) Master of Science
	c) Bachelor of Arts
	d) Doctor of Science


VI. Из данных слов выберите то, которое закончит предложение:

23. Oxford … of 34 colleges today.

a) consists 
b) produces 
c) considers

24. 24 of 34 colleges … only men.

a) enter 
b) admit 
c) graduate

25. Isaak Newton, professor of Mathematics, … from Cambridge.

a) learned 
b) studied 
c) graduated

26. Oxford University … Bachelor of Arts or Bachelor of Science after 3 years of study.

a) confers 
b) uses 
c) gets

Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)

I. Образуйте однокоренные прилагательные от данных существительных, используя стоящие в скобках суффиксы, и переведите их на русский язык:

1. specialist (-al)

2. academy (-ic)

3. tradition (-al)

4. aristocrat (-ic)

5. philosophy (-al)

II. Из данных предложений выберите те, в которых прилагательное употреблено в сравнительной и превосходной степени сравнения и переведите эти предложения на русский язык:

6. Oxford and Cambridge are the oldest and the most prestigious universities in Great Britain.

7. Master of Arts or Master of Science denotes Master of Arts or Science, higher degree usually confers after a year of postgraduate study.

8. It is more prestigious for rich families to get education at Oxford.

9. Peter House is the oldest college founded in 1284.

III. Each college offers teaching in a wide range of subjects.

IV. Из данных предложений выпишите те, действие которых происходит в настоящем времени, и переведите их на русский язык:

11. The normal length of the first-degree course is three years.

12. Oxford and Cambridge cling to their traditions such as the use of Latin at Degree ceremonies.

13. Within a college one will find a chapel, a dining hall.

14. Cambridge started during the 13th century.

15. Each college has its own name, its coat of arms.

16. Из данных предложений выберите те, действие которых происходило в прошлом, и переведите их:

17. They are often called collectively Oxbridge.

18. Their students wore special academic dress.

19. Oxford dated back to 1213.

20. Cambridge started during the 13th century and grew until today.

21. Oxford and Cambridge are the most prestigious universities in Britain. 

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	Oxford and Cambridge are the oldest and the most prestigious universities in Great Britain. They are often called collectively Oxbridge to denote an elitarian education. Only very rich and aristocratic families can afford to send their sons and daughters to these universities.

	2.
	A person studying for a degree at a British University is called an undergraduate, one who has taken a degree is called a graduate. The normal length of the first degree course is three years, after which the students take the Degree of Bachelor of Arts (BA) or Bachelor of Science (BSc). Some courses such as languages or medicine may be one or two years longer. M.A. or M.Sc. denotes Master of Arts or Science, higher degree, usually confer after a year of postgraduate study. Oxford and Cambridge cling to their traditions such as the use of Latin at Degree ceremonies, their special academic dress is worn at the examinations.

	3.
	Oxford and Cambridge universities consist of number of colleges. Each college has its own name, its coat of arms. Each college is governed by a Master. Each college often teaching in a wide range of subjects. Within a college one will find a chapel, a dining hall, a library, rooms for undergraduates, fellows and the Master and also rooms for teaching purposes.

	4.
	Oxford is one of the oldest universities in Europe, dated back to 1213. there are 24 colleges for men, five for women and another five both for men and women members. Among the oldest colleges are University College, All Souls and Christ Church.

	5.
	Cambridge started during the 13th century and grew until today. Now there are more than 30 colleges. Peter House is the oldest college, founded in 1284 and Robin College is the most recent, opened in 1977. Cambridge was only for men until 1871. In 1970s most colleges opened their doors to both men and women. Almost all colleges are now mixed.

	6.
	Many great men studied at Cambridge, among them Milton, the poet, Roger Bacon, the philosopher, Newton, the scientist, Kapitza, the famous Russian physicist, and others.

	7.
	The universities have over a hundred societies and clubs. Sport is a part of students’ life at Oxbridge. The most popular sports are rowing and punting.


Пояснения к тексту:

undergraduate – старшекурсник
graduate – выпускник
Degree of Bachelor of Arts (BA) – степень бакалавра гуманитарных наук
Degree of Master of Arts (MA) – степень магистра гуманитарных наук
postgraduate study – обучение в аспирантуре

Master of a college – глава колледжа
Fellow of a college – член совета колледжа
coats of arms – герб колледжа
rowing – гребля
punting – лодка
I. Какое из данных утверждений выражает основную идею текста?

a) Ученые степени, присуждаемые в университетах Британии.

b) Возможности получения высшего образования в Великобритании.

c) Самые престижные университеты Британии.

II. Запишите номер абзаца, в котором вы найдете ответ на вопрос:

Do women study in all colleges of Oxford?

III. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. Receiving Degrees at the universities.

2. Oxbridge is an elitarian education.

3. The entertainment of the students.

4. The structure of Oxford and Cambridge.

IV. Запишите заголовок к тексту (по-английски).

V.    Переведите письменно 4, 5, 6, 7 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 2

Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

value, to underline, opportunity, to tend, community, society, goal, to achieve, success, means, to reach, competition, irrespective, quality, to believe, debatable, deserving, widespread, degree, equality, to elaborate, to attain, to coincide, furthermore, to displace, to encourage, fee, failure.

Лексика

I. Выберите слово, близкое по значению данному:

	1. quantity
	a) quality
	b) number
	c) equality

	2. purpose
	a) goal
	b) value
	c) tendency

	3. education
	a) graduation
	b) schooling
	c) institution

	4. various
	a) average
	b) major
	c) different

	5. receive
	a) get
	b) reflect
	c) require


II. Выберите слово, противоположное по значению данному:

	6. reach
	a) lose
	b) attain
	c) achieve

	7. success
	a) luck
	b) progress
	c) failure

	8. compulsory
	a) required
	b) voluntary
	c) obligatory

	9. modern
	a) new
	b) contemporary
	c) ancient

	10. widespread
	a) common
	b) conventional
	c) limited


III. Выберите английское словосочетание, соответствующее русскому:

	11. сдать экзамен
	a) to take an exam

b) to fail an exam

c) to pass an exam

	12. ни в коем случае
	a) by any means

b) by no means

c) by means of

	13. получить работу
	a) to get a job

b) to look for a job

c) to lose a job

	14. предоставить средства
	a) to find means

b) to earn means

c) to provide means


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) idea
	b) plan
	c) aspect
	d) field

	16.
	a) salary
	b) scholarship
	c) grant
	d) stipend

	17.
	a) course
	b) society
	c) subject
	d) knowledge

	18.
	a) develop
	b) to work out
	c) value
	d) elaborate


V. Найдите слово, объединяющее данную тематическую группу:

	19.
	a) engineering
	b) science
	c) philosophy
	d) physics

	20.
	a) enterprise
	b) plant
	c) factory
	d) industry

	21.
	a) instruction
	b) education
	c) teaching
	d) tuition

	22.
	a) research
	b) equipment
	c) scientific
	d) journal


VI. Из данных слов выберите то, которое закончит предложение:

23.  All students pay tuition ….

a) scholarships 
b) fees 

c) money 
d) degree

24.  Advanced students … scholarships of different types.

a) hold 
b) remain 
c) receive 
d) earn

25.  The structure of … contains public and private schools.

a) education 
b) competition 
c) expectation 

d) opportunity

26.  The curriculum (учебный план) includes courses in such … as humanitarian and the social science. 

a) knowledge 

b) activity 
c) aspects 
d) fields

Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)

I.     По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. равенство
	a) equal
b) equality
c) equally

	2. сочинение
	a) composite
b) composition
c) composer

	3. конкурсный
	a) competitive
b) competitor
c) competition

	4. непосредственно
	a) director
b) direction
c) directly

	5. деятельность
	a) action
b) activity
c) active


II.   Из данных предложений выпишите те, действие которых     происходит в настоящем времени, и переведите их:

6. Degrees in business and engineering will result in a well-paid job.

7. Higher education in the US began in 1636.

8. Education lays the groundwork for achieving success in life.

9. The private schools do not displace the public schools.

10. Gradually universities became the dominant structure of higher education.

III.  Из данных предложений выберите те, действие в которых происходило в прошлом, и переведите их:

11. The American system focuses on teaching man to get along in the community.

12. The development of business stimulated the improvement of the XIX century universities.

13. Competition in getting jobs supports the idea of equal opportunities.

14. American colleges tried to duplicate the colleges of ancient universities of England.

15. Many private institutions which came into existence at about this time greatly influenced American education.

IV. Переведите следующие предложения, обратите внимание на степень сравнения прилагательных:

16. Private colleges are generally smaller and the tuition fees are much higher.

17. It is more prestigious to get a degree at a private university where the quality of education is better.

18. Many of the oldest and best-known colleges, such as Columbia and Harvard, became universities.

19. An American university has the most complex organization of all American institutions of higher education.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	Educational institutions in the United States reflect the nation’s basic values and ideals. The underlying principle of the American system of education is to educate people in such a way that everyone has the opportunity to develop his greatest potential. The American system tends to focus on teaching man and society to get along in the community.

	2.
	Another major purpose of education in America is to lay the groundwork for achieving success in life. Here it should be said that Americans value education largely as a means of reaching a higher standard of living. The belief is widespread in the US that the more schooling a person has, the more money he will earn on college graduation. Generally speaking, the expectation is that degrees in fields such as business and engineering will result in higher paying careers.

	3.
	Equality of opportunities is an important aspect of the American system of education. However, the goal of equal opportunity in education remains an ideal rather than reality. Furthermore, the very structure of education itself, which contains both public and private schools, may not encourage equality of opportunity. Tuition fees in private schools are relatively high so they educate primarily upper-class children. However, these private schools are few in number and they do not by any means displace the public schools which are truly the central educational institutions in the United States. 

	4.
	There is still another factor which supports the idea of equal opportunity – competition in getting jobs or entering the best universities is held on a relatively equal basis irrespective of the type of the school, private or public, one has attended. Furthermore, a lot depends on the personal qualities of the individual school graduate. Some believe that private institutions of higher learning have higher graduation standards but this is debatable.

	5.
	All university students must pay tuition fees. In addition to tuition fees they have to pay for the books and room and board. Deserving students may receive scholarships of various types that offset the high costs of higher education.


Пояснения к тексту:

to get along – ладить, уживаться

the … the … -  чем … тем …

rather than – а не

the very – тот самый, самый

both … and … - и … и …

room and board – квартира и стол; полный пансион

to offset – компенсировать

I.   Какое из данных утверждений выражает основную идею текста?

a) Американская система образования не является единой общегосударственной системой.

b) Высшие учебные заведения в США различаются по числу студентов и характеру учебных программ.

c) Система американского образования строится на тех же идеалах, что и общество в целом.

II.  Запишите номер абзаца, в котором Вы найдете ответ на вопрос:

Do all students have to pay for their education?

III. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. The idea of equal opportunities in education is perhaps not true.

2. The ideals of the American system of education and the society coincide.

3. Personal qualities are taken into consideration when applying for a job.

4. College degrees can guarantee higher standards of living.

IV.  Запишите заголовок к тексту (по-английски).

V.   Переведите письменно 3 и 4 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 2

Вариант B
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:
distinctive, duration, during, to consist of, to apply, to provide, to devote to, entirely, to consider, background, to obtain, research, to submit, thesis, to award, to recognize, to accept, ability, to defend, to deserve, pure, to reject, intention, skill.

Лексика
I. Выберите слово, близкое по значению данному:

	1. discipline
	a) subject
	b) dissertation
	c) qualification

	2. ability
	a) duration
	b) qualification
	c) feature

	3. entirely
	a) practically
	b) completely
	c) extremely

	4. competent
	a) skillful
	b) basic
	c) distinctive

	5. talent
	a) degree
	b) step
	c) skill


II. Выберите слово, противоположное по значению данному:

	6. applied
	a) pure
	b) advanced
	c) accepted

	7. to obtain
	a) to get
	b) to receive
	c) to give


	8. usually
	a) often
	b) never
	c) generally

	9. to accept
	a) to reject
	b) to take
	c) to receive

	10. before
	a) ago
	b) in front of
	c) after


III. Выберите английское словосочетание, соответствующее русскому:

	11. представить диссертацию
	a) to write a thesis

b) to submit a thesis

c) to defend a thesis

	12. прослушать курс лекций
	a) to take a course

b) to prepare a course

c) to deliver a course

	13. сдать экзамены
	a) to take exams

b) to pass exams

c) to have exams

	14. присуждать степень
	a) to have a degree

b) to obtain a degree

c) to award a degree


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) university
	b) laboratory
	c) school
	d) college

	16.
	a) achievement
	b) success
	c) progress
	d) level

	17.
	a) job
	b) master
	c) bachelor
	d) doctor

	18.
	a) aim
	b) purpose
	c) panel
	d) intention


V. Найдите слово, объединяющее данную тематическую группу:

	19.
	a) literature
	b) history
	c) language
	d) humanities

	20.
	a) education
	b) general
	c) high
	d) higher

	21.
	a) work
	b) activity
	c) research
	d) study

	22.
	a) natural
	b) social
	c) military
	d) science


VI. Из данных слов выберите то, которое закончит предложение:

23. The first two years of studies include courses in such … as humanities and social sciences.

a) questions 
b) fields 

c) steps 

d) experts

24. In the third and fourth years the undergraduate students … in one or two major discipline.

a) decide 

b) recognize 
c) specialize 
d) demonstrate

25. The master’s degree … takes a rather specific course of study.

a) expert 

b) professor 
c) bachelor 

d) candidate

26. Doctoral programs usually … of at least 3 years of study.

a) consist 

b) consider 

c) deserve 

d) defend

Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)

I.  По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. специальность
	a) specialization
b) speciality
c) specially

	2. отличительный
	a) distinctly
b) distinction
c) distinctive

	3. педагог
	a) educator
b) education
c) educational

	4. наглядный
	a) demonstration
b) demonstrator
c) demonstrative

	5. независимо
	a) independent
b) independently
c) independence


II. Из данных предложений выпишите те, действие которых происходит в настоящем времени, и переведите их:

6. First-year students study humanities and social subjects.

7. The first two years will include courses in history, literature and languages.

8. He wanted to make clear concerning the system of education.

9. Specialization begins in the third year.

10. The baccalaureate students specialized in one or two fields.

III. Из данных предложений выберите те, действие в которых происходило в прошлом, и переведите их:

11. Higher schools range from two-year colleges to major research institutions.

12. A student’s expenses included housing, food, books and personal expenses.

13. The applicant writes an essay of some kind, often autobiographical.

14. The first universities divided courses into various fields of learning and called them “colleges” or “schools”.

15. The members of the faculty (преподаватели) provided instruction by the lecture method and informal discussions.

IV. Переведите следующие предложения, обратите внимание на степень сравнения прилагательных:

16. The most distinctive feature of an American university is its two levels.

17. The first two years provide general education and prepare students for more special subjects.

18. The bachelor’s degree, this oldest academic degree, usually represents successful completion of a four-year course of study.

19. Private colleges are more expensive and generally smaller. 

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	A distinctive feature of an American University is its two levels. The first 

	
	level is Undergraduate School of four years duration. Here the work of undergraduate students during the first two years usually consists of broadly based studies in humanities, social sciences, applied and natural sciences. The first two years at Undergraduate School are aimed at providing general education and preparing for more special studies. The last two years are devoted almost entirely to the major discipline.

	2.
	If all goes well, this undergraduate education culminates in a Bachelor’s degree. It’s usually known as the first degree and may be a terminal qualification. But it is often considered as a background for further specialization, a step toward higher (or advanced) degree.

	3.
	The advanced degrees (the Master’s degree and the Doctor of Philosophy) can be obtained in Graduate School, which is the second level of university education. There are two levels of graduate school: the lower for obtaining the Master’s degree and the upper level for the doctorate, which is a research degree. A graduate student works for two or three years, during which time he takes courses, passes exams, does some laboratory research under a competent professor, and on submitting a thesis is awarded a Master’s degree, though a thesis is not always required. 

	4.
	A Doctor of Philosophy (PhD) degree is basically a research degree awarded in recognition of achievement in research. If the graduate student is accepted into the PhD program, after obtaining a Master’s degree, he takes two or three years of advanced courses in his field of interest. During this time he passes exams and does research preparing for his thesis. His research usually culminates in a written dissertation which must demonstrate that the doctoral student has talent and ability for independent research. He comes before a panel of experts in his field and defends his thesis. These are professors from his university or sometimes other universities who question the candidate and finally decide whether he deserves the degree.


Пояснения к тексту:
Undergraduate school – бакалавриат
Graduate school – аспирантура
humanities – гуманитарные науки

social sciences – общественные науки

Bachelor’s degree – степень бакалавра

Master’s degree – степень магистра

advanced courses – курсы повышенного типа

panel – комиссия

I. Какое из данных утверждений выражает основную идею текста?

a) Высшие учебные заведения в США различаются по статусу и характеру учебных программ.

b) Особенно интересна одна степень высшего образования, которая готовит специалистов более высокой квалификации.

c) Показателем уровня образования служат так называемые ученые и профессиональные степени, присуждаемые выпускникам.

II. Запишите номер абзаца, в котором Вы найдете ответ на вопрос:

How does one obtain the Bachelor’s degree?

III.Расположите данные пункты плана в последовательности, соответствующей содержанию текста:
1. Graduate education culminates in obtaining advanced degrees.

2. At undergraduate level specialization begins in the third and the fourth years.

3. The research doctorate (PhD) is the highest degree in the American graduate school.

4. The Bachelor’s degree represents successful completion of a four-year course of study.

IV. Запишите заголовок к тексту (по-английски).

V.  Переведите письменно 3 и 4 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 2

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

addition, to connect, department, similar, to receive, to sign, complicated, for instance, earning, to propose, depending on, schedule, fulfillment, school leaver, secondary, to enroll, to graduate, law, demand, clarification, to train, experience, attitude, to accept, private, tuition, to regard, to remove, precisely, entrant, to appear, for sure, experience.

Лексика
I. Выберите слово, близкое по значению данному:

	1. possibility
	a) selection
	b) opportunity
	c) attitude

	2. similar
	a) simple
	b) single
	c) same

	3. other
	a) together
	b) another
	c) after

	4. tuition
	a) teaching
	b) learning
	c) examination

	5. private
	a) state
	b) non-state
	c) expensive


II. Выберите слово, противоположное по значению данному:

	6. complicated
	a) complex
	b) simple
	c) intricate

	7. practice
	a) probation
	b) work
	c) theory

	8. train
	a) teach
	b) instruct
	c) study

	9. foreign
	a) native
	b) strange
	c) individual

	10. connect
	a) join
	b) break
	c) link


III. Выберите английское словосочетание, соответствующее русскому:

	11. давать дополнительный заработок
	a) to demand an additional earning

b) to provide an additional earning

c) to guarantee an additional earning

	12. пока что
	a) so far

b) so that

c) so far as

	13. подписать контракт
	a) to make a contract

b) to break the contract

c) to sign a contract

	14. в зависимости от
	a) for instance

b) depending on

c) according to


IV. Найдите слово, выпадающее из данной тематической группы:

	15.
	a) linguistics
	b) economics
	c) politics
	d) economist

	16.
	a) collaboration
	b) cooperation
	c) partnership
	d) correspondence

	17.
	a) professional
	b) entrant
	c) school leaver
	d) student

	18.
	a) mathematics
	b) chemistry
	c) language
	d) physics


V.     Найдите слово, объединяющее данную тематическую группу:

	19.
	a) subject
	b) history
	c) law
	d) management

	20.
	a) country
	b) language
	c) relations
	d) foreign

	21.
	a) colloquium
	b) class
	c) lecture
	d) tuition

	22.
	a) university
	b) education
	c) college
	d) school


VI. Из данных слов выберите то, которое закончит предложение:

23.  49% of college and university students … for tuition.

a) pay 

b) accept 

c) train 


24.  School leavers … themselves where to study.

a) decide 

b) welcome 
c) differ 


25.  A secondary school … instruction in academic and vocational subjects.

a) receives 

b) offers 

c) connects 



26.  An elementary school teaches such basic … as reading, writing, arithmetic and history.

a) plans 

b) schedules 
c) subjects 


Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: глаголы to be, to have и остальные глаголы в Present, Past, Future Simple (Active Voice), оборот there be, степени сравнения прилагательных, словообразование (суффиксы –tion, -er, -or, -ness, -ity, -ian, -ive, -ful, -less, -ly, -ic)

I. По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. связь
	a) connection
b) connector

c) connective

	2. сходство
	a) similar

b) similarly

c) similarity

	3. возможно
	a) possible

b) possibly

c) possibility

	4. действительный
	a) operative

b) operation

c) operator

	5. получатель
	a) receptive

b) reception

c) receiver


II. Из данных предложений выпишите те, действие которых происходит в настоящем времени, и переведите их:

6. Last year colleges and universities admitted 49% of students on a fee-paying basis.

7. It will be impossible to achieve good results without additional state funding.

8. Besides general educational programs the school offers courses in hotel business and tourism.

9. The era of business education began about twenty years ago.

10. There are schools providing very good training in foreign languages in rural (сельский) areas.

III. Из данных предложений выберите те, действие в которых происходило в прошлом, и переведите их:

11. Russians whose parents are not very rich enroll in American universities that do not guarantee a job.

12. Private colleges and university quickly found their niche.

13. In their advertisements private schools promise high quality education.

14. Having found a well-paid job he got back tuition costs within three to four years after graduation.

IV. A Russian citizen had almost the same choice of educational opportunities as a European.

V. Переведите следующие предложения, обратите внимание на степень сравнения прилагательных:

16. International Higher School is the latest addition to Russian universities and colleges.

17. Education at British private schools is traditionally more expensive than in the United States.

18. The British prefer to send their children to private schools in other countries with milder pedagogical principles.

19. A university is an educational institution of the highest level.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	International Higher School (IHS) is the latest addition to the list of abbreviations of Russian universities and colleges. The study at IHS is connected with cooperation with foreign schools of higher learning. This partnership does not take the form of probation. A student of one of the ten IHS departments studies at once at two departments, doing some terms at home and others at similar departments abroad, and receives a diploma of an international standard.

	2.
	IHS operates on a contract basis. Contracts are signed both with teachers and students. IHS guarantees its students maintenance grants, accommodation and the possibility to work after classes. Though the work is not very complicated (record-keeping and business correspondence, for instance) it provides an additional earning and more practice in the foreign language.

	3.
	After a colloquium a student’s curator proposes, depending on what the student knows, an individual plan of studies and a schedule of its fulfillment. A compulsory subject is English (for foreigners - Russian) and another foreign language, for instance, Flemish, if Belgium is a partner country according to the student’s plan. Not only a secondary school leavers can enroll at IHS but also people with a higher school diploma who require not five or six but only two years to graduate from IHS. Not only Muscovites and students from partner countries can study at IHS departments (law, history, political science, management, music, the arts, linguistics, economics and ecology), but also young people from Russian provinces and CIS countries. The two demands common for all are, first, no politics and, second, no clarification of national relations. The school trains only professionals.

	4.
	IHS is one of the first non-state schools of higher learning in Russia. So far they have no experience and the attitude to them differs. Some people do not accept private higher schools with tuition paid for regarding them as far removed from democracy. Others welcome non-state higher schools precisely for their democratism, since it is not the selection committee but the entrant himself that decides where to study and who will teach him. One thing that is for sure is that there has appeared an alternative to state higher school.


Пояснения к тексту:

probation – стажировка
maintenance grant – стипендия
accommodation – местожительство
record-keeping – делопроизводство
Flemish – фламандский язык
CIS (Commonwealth of Independent States) – СНГ (содружество независимых государств)

so far – пока что

I.   Какое из данных утверждений выражает основную идею текста?

a) В России начали появляться частные вузы, но отношение к ним неоднозначно.

b) Уровень подготовки специалистов в частном вузе значительно выше, чем в государственном.

c) Выпускники Международного вуза проходят стажировку в соответствующем вузе за границей.

II.  Запишите номер абзаца, в котором Вы найдете ответ на вопрос:

How many departments are there at the new higher school?

III. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. The main aim of IHS is to train highly skilled professionals.

2. IHS cooperates with a similar higher school in partner countries.

3. A private school of higher learning is a new phenomenon and not everybody approves of it.

4. IHS provides students with everything necessary for their studies.

IV.  Запишите заголовок к тексту (по-английски).

V.   Переведите письменно 2 и 3 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 3

Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

throughout, to appoint, to represent, power, through, legislative, to depend on, to manufacture, trade, to provide, appliance, to become, to prefer, urban, rural, entertainment, to hire, to tend, rather.

Лексика

I.    Выберите слово, близкое по значению данному:

	1. main
	a) chief
	b) little
	c) general

	2. manufacture
	a) improve
	b) change
	c) produce

	3. quiet
	a) clean
	b) calm
	c) high

	4. appliance
	a) area
	b) service
	c) apparatus


II. Выберите слово, противоположное по значению данному:

	5. cool
	a) hot
	b) cold
	c) warm

	6. minority
	a) quantity
	b) majority
	c) number

	7. urban
	a) rural
	b) international
	c) official

	8. native
	a) personal
	b) foreign
	c) different


III. Выберите русский вариант, соответствующий данному английскому:

	9. in addition to
	a) в соответствии с

b) кроме

c) согласно

	10. rather quiet
	a) довольно тихий

b) гораздо тише

c) не такой тихий

	11. throughout the country
	a) за пределами страны

b) внутри страны

c) по всей стране

	12. for many years
	a) через много лет

b) в течение многих лет

c) когда-нибудь


IV. Найдите слово, выпадающее из данной тематической группы:

	13.
	a) restaurant
	b) theatre
	c) cinema
	d) university

	14.
	a) monarch
	b) group
	c) queen
	d) governor

	15.
	a) electric heater
	b) washing machine
	c) air conditioning
	d) concert hall

	16.
	a) village
	b) city
	c) farm
	d) cow


V.    Найдите слово, объединяющее данную тематическую группу:

	17.
	a) agriculture
	b) industry
	c) economy
	d) trade

	18.
	a) quantity
	b) dozen
	c) several
	d) a number of

	19.
	a) refrigerator
	b) home
	c) fireplace
	d) window

	20.
	a) guide
	b) travel
	c) sightseeing
	d) tourism


VI. Заполните пропуски словами, приведенными ниже:

21.  New Zealand is an … country in the Southwest Pacific Ocean.

22.  The legislation, prime minister, and Cabinet run the … government.

23.  Maori make up about 12% of the country’s …. 

24.  New Zealand has one of the highest … of living in the world.

25.  New Zealand is a constitutional ….

	a) population
	b) monarchy
	c) island
	d) national
	e) standard


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: времена группы Continuous Active и времена группы Perfect Active; словообразование (суффиксы –ent/ant, -ance/ence, -ment, -al)

I.    По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. независимость
	a) independent
b) independence
c) independently

	2. электрический
	a) electrician
b) electricity
c) electrical

	3. разработчик
	a) developer
b) development
c) developing

	4. конституционный
	a) constitution
b) constitutional
c) constitutionalism

	5. законодатель
	a) legislative
b) legislation
c) legislator


II. Образуйте однокоренные существительные от данных глаголов, используя суффиксы, стоящие в скобках, и переведите их:

6. speak (er)
7. appoint (ment)

8. prefer (ence)

9. keep (er)

10. represent (ation)

III. Из данных предложений выпишите те, сказуемое в которых стоит в Present Perfect. Подчеркните в них сказуемое и переведите предложения:

11. New Zealand is a prosperous country with a high standard of social service.

12. In agriculture tractors have almost completely replaced farm horses.

13. New Zealand has more than 2000 libraries.

14. The university system in New Zealand comprised six separate universities.

15. The rate of unemployment has generally been low.

IV. Закончите предложения одной из предложенных форм:

16. Since 1852 the New Zealand constitution … almost completely.
a) is changing

b) has changed
c) changes
17.The country … to the British Empire before it became independent.
a) belonged
b) has belonged
c) had belonged
18.Manufacturing and service industries … now.
a) have developed
b) are developing
c) was developing
19.English … the official language of New Zealand.
a) is becoming

b) had become

c) has become
V.   Какое из русских предложений соответствует предъявленному английскому:

20. Life is changing in large cities where international tourism is developing rapidly.

a) Жизнь изменилась в больших городах, где быстро развивается международный туризм.

b) Жизнь меняется в больших городах, где быстро развивается международный туризм.

21. European settlers have brought with them their own traditions.

a) Европейские  поселенцы привезли с собой свои традиции.

b) Европейские  поселенцы привозят с собой свои традиции.

22. New Zealand has become an independent member of the Commonwealth of Nations.

a) Новая Зеландия стала независимым членом Содружества Наций.

b) Новая Зеландия является независимым членом Содружества Наций.

Понимание прочитанного

Прежде чем читать текст, обратите внимание на пояснения к тексту. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	New Zealand belongs to a large island group called Polynesia. The country is situated on two main islands – the North Island and the South Island – and several dozens of smaller islands. Most of the smaller islands are hundreds of kilometers from the main ones. Wellington is the capital of New Zealand and Auckland is the largest city. English is the official language and is spoken throughout the country. Many native people speak their own language, Maori, in addition to English.

	2.
	The country once belonged to the British empire. Today it is an independent member of the Commonwealth of Nations, an association of Britain and a member of its former colonies. The British Monarch, Queen Elizabeth II, is the monarch of  New Zealand. She appoints a governor general to represent her, but he has little power. Britain gave New Zealand a constitution in 1852, when it was a British colony but through the years the New Zealand legislature has changed almost all its provisions. Today the nation has no written constitution.

	3.
	For many years, the economy of the country depended largely on agriculture. Today agriculture, manufacturing and service industries are all important to the economy. New Zealand’s economy depends on trade with many countries – Australia, Britain, Japan and United States.

	4.
	New Zealand has a high standard of living. The government’s medical program provides excellent health care. Almost in every New Zealand home there are refrigerators, washing machines, and other modern electrical appliances. But air conditioning and central heating are rare because the weather rarely becomes extremely hot or extremely cold. In summer people prefer to keep windows open. In winter, fireplaces or electric heaters keep the homes warm.

	5.
	About four fifths of New Zealand’s population live in urban areas but cities are uncrowded. Large cities have excellent restaurants, theatres, concert halls and other places of entertainment. City life tends to be rather quiet. However it is changing in larger cities where international tourism is developing rapidly. Nearly a fifth of people live in rural areas. Many farm families run their farms with little or no hired help.


Пояснения к тексту:

dozens – множество, масса

ones – употребляется во избежание повторения ранее упомянутого существительного

Commonwealth of Nations – Содружество Наций

provisions – юридические положения

Maori – маори (коренные жители Новой Зеландии)

run their farms – работают на своих фермах

I.     Какое из данных утверждений выражает основную идею текста?

a) Новая Зеландия – это полноправный член Британского Содружества с развитой экономикой и высоким уровнем жизни.

b) Трудно найти более удаленные друг от друга страны, чем Новая Зеландия и Англия, но у них очень много общего.

c) Новая Зеландия – это сельскохозяйственная страна с высоким уровнем жизни, являющаяся частью Британского Содружества Наций.

II. Соответствуют ли данные утверждения содержанию текста? Выпишите номера соответствующих утверждений.

1. Новая Зеландия расположена на двух больших островах.

2. Вся полнота власти сосредоточена в руках генерал-губернатора.

3. Новая Зеландия установила торговые связи со многими странами.

4. В стране хорошо развита система здравоохранения.

5. Половина населения проживает в сельской местности.

III. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. When did New Zealand become independent?
2. Where is the country situated?
3. Who is the head of the country?
4. What countries are New Zealand’s partners in trade?
5. What does New Zealand’s industry produce?
6. Where can townspeople relax?
IV. Составьте план текста в виде утверждений на английском языке.

V. Переведите письменно 1 и 2 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 3

Вариант В

Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

surface, to develop, voluntary, to become, within, former, inside, to rely, to recognize, to include, to maintain, influence, in addition to, to leave, to join, easy, inside, way, nearly, trade, to link, rail, poor, to destroy, to operate.

Лексика
I.  Выберите слово, близкое по значению данному:

	1. way
	a) defense
	b) method
	c) former

	2. within
	a) outside
	b) near
	c) inside

	3. nearly
	a) almost
	b) already
	c) always

	4. link
	a) leave
	b) join
	c) become


II.  Выберите слово, противоположное по значению данному:

	5. build
	a) construct
	b) repair
	c) destroy

	6. modern
	a) present
	b) ancient
	c) new

	7. poor
	a) rich
	b) real
	c) poorly

	8. easy
	a) simple
	b) light
	c) difficult


III. Выберите русский вариант, соответствующий данному английскому:

	9. maintain a strong influence
	a) испытывать сильное влияние

b) оказывать сильное влияние

c) сохранять сильное влияние

	10. take interest
	a) вызывать интерес
b) проявлять интерес

c) поддерживать интерес

	11. on the other hand
	a) с одной стороны
b) с другой стороны
c) со всех сторон

	12. over the last 200 years
	a) за последние 200 лет
b) 200 лет назад
c) спустя 200 лет


IV.  Найдите слово, выпадающее из данной тематической  группы:

	13.
	a) operate
	b) function
	c) work
	d) call

	14.
	a) receive
	b) obtain
	c) get
	d) give

	15.
	a) Australia
	b) Pakistan
	c) India
	d) Canada

	16.
	a) Commonwealth
	b) France
	c) Germany
	d) Italy


V.  Найдите слово, объединяющее данную тематическую группу:

	17.
	a) country
	b) territory
	c) people
	d) cities

	18.
	a) economic
	b) trade
	c) policy
	d) financial

	19.
	a) club
	b) society
	c) party
	d) membership

	20.
	a) road
	b) tunnel
	c) rail
	d) service


VI. Заполните пропуски словами, приведенными ниже:

21. The disintegration of the … has been a graduate process.

22. Britain was the sixth country… the European Community.

23. A country under the control of a distant country is called a ….

24. Most of Britain’s former colonies have become ….

25. Britain looked like a rich and friendly … for immigrant workers.

	a) colony
	b) Empire
	c) country
	d) independent
	e) to join


Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: времена группы Continuous Active и времена группы Perfect Active; словообразование (суффиксы –ent/ant, -ance/ence, -ment, -al)

I.    По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. зависимость
	a) dependence

b) dependent

c) dependable

	2. финансовый
	a) financier

b) financially

c) financial

	3. защита
	a) defender

b) defence

c) defensive

	4. включение
	a) inclusion

b) inclusive

c) including

	5. действующий
	a) operation

b) operator

c) operative


II. Образуйте однокоренные существительные от данных глаголов, используя суффиксы, стоящие в скобках, и переведите их:

6. improve (ment)
7. develop (ment)
8. except (ion)
9. begin (er)
10. maintain (ance)
III. Из данных предложений выпишите те, сказуемое в которых стоит в Present Perfect. Подчеркните в них сказуемое и переведите предложения:

11. In 1973 Great Britain became a member of the European Community.

12. Automobile travel has become increasingly important in recent decades.

13. By the early 1990s Great Britain had about 5600 km of canals and navigable rivers.

14. Great Britain has remained one of the most highly industrialized countries in the world.

IV. Today Britain has only fifteen “dependent territories”.

V. Закончите предложения одной из предложенных форм:

16.  Former depended territories … independent.

a) have become
b) becomes
c
) will have become
17.  After Britain’s former depended territories … independent, they remained within the Commonwealth.
a) have become
b) had become 
c) became
18.  The pub … over the centuries, always playing an important part in social life.
a) has evolved 
b) will evolve
c) had evolved
19.  English pubs … an important part in social life at present.
a) plays

b) are playing
c) have played
VI.    Какое из русских предложений соответствует предъявленному английскому:

20. The Channel Tunnel is costing nearly 5000 million pounds.

a)  Тоннель под Ла-Маншем стоил почти 5000 миллионов фунтов.

b)  Тоннель под Ла-Маншем стоит почти 5000 миллионов фунтов.

21. Britain’s poor regions have benefited from joining the European Community.

a)  Бедные области Британии извлекут выгоду от присоединения к ЕС.

b)  Бедные области Британии извлекли выгоду от присоединения к ЕС.

22. Racial discrimination and poor living conditions have contributed to racial violence.

a) Расовая дискриминация и плохие условия жизни способствовали расовым беспорядкам.

b) Расовая дискриминация и плохие условия жизни способствуют расовым беспорядкам.

Понимание прочитанного

Прежде чем читать текст, обратите внимание на пояснения к тексту. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	In 1920 the British Empire controlled a fifth of the world’s land surface. Today the Empire has developed into a voluntary association of 49 independent states. The voluntary association of nations began when Britain’s older colonies – Australia, Canada, New Zealand and South Africa – became independent nations. Today Britain has only 15 “dependent territories”, which rely on Britain for their defence.

	2.
	The Queen is Head of the Commonwealth. She is also recognized as Head of State in 18 countries, including Canada and Australia. Although Britain maintains a strong influence in the Commonwealth, and the Queen takes a keen personal interest in Commonwealth matters, she has little real power. The modern Commonwealth included republics and other monarchies in addition to states headed by the Queen. In 1950 India became a republic while remaining within the Commonwealth. Since then most of Britain’s former depended territories have become independent and have remained within the Commonwealth. Among the exceptions are South Africa, which left in 1961, and Pakistan, which left in 1972.

	3.
	Britain joined the European Community in 1973, but its membership has not always been easy. There have been arguments over financial and agricultural policies, and for many people the way the Community operates remains a mystery. On the other hand, Britain’s poorer regions have benefited, receiving 24% of the Community’s regional and social funds in 1985, nearly half of Britain’s trade is with the rest of the Community.

	4.
	Over the last 200 years the idea of a tunnel under the sea between Britain and France has been put forward a number of times. In 1987 a new Anglo-French group was chosen to construct a system which would link the road and rail networks of Britain and France and improve communications and commercial links inside the European Community. The Channel Tunnel is costing nearly 5.000 million pounds. There are two rail tunnels and a service tunnel, each nearly 50 kilometres long. There is also a possibility that a separate road tunnel for cars and lorries will be built in the future.


Пояснения к тексту:

Commonwealth – Содружество Наций

European Community – Европейское сообщество

to benefit – извлекать пользу

regional and social funds – региональные и социальные фонды

Channel Tunnel – тоннель под Ла-Маншем

I.     Какое из данных утверждений выражает основную идею текста?

a) Все граждане Содружества Наций могут свободно выезжать в Британию в поисках работы.

b) После распада Британской империи Великобритания стала играть важную роль в Европейском сообществе.

c) Бывшая Британская империя теперь является добровольной ассоциацией независимых государств.  

II. Соответствуют ли данные утверждения содержанию текста? Выпишите номера соответствующих утверждений.

1. Распад империи начался в 1920 году.

2. Большинство колоний стали независимыми и остались в Содружестве Наций.

3. Пакистан и Южная Африка не присоединились к содружеству.

4. Британия быстро и легко вошла в состав Европейского сообщества.

5. Идея построить тоннель под Ла-Маншем появилась давно.

III. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. When did Canada and Australia become independent?

2. What countries didn’t enter the Commonwealth?

3. Does the Commonwealth include only states headed by the Queen?

4. What arguments did Britain have with the Community?

5. Who was chosen to construct the tunnel?

6. When will a road tunnel be built?

IV. Составьте план текста в виде утверждений на английском языке.

V.    Переведите письменно 1 и 2 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 3

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to rise, origin, still, quite, bilingual, equally, to employ, until, except, overwhelmingly, feeling, to tie, threat, to belong, band, maple, leaf, middle, to represent, including.

Лексика

I.   Выберите слово, близкое по значению данному:

	1. small
	a) strong
	b) little
	c) large

	2. enjoy
	a) like
	b) employ
	c) apply

	3. middle
	a) bottom
	b) top
	c) center

	4. city
	a) settlement
	b) town
	c) village


II.  Выберите слово, противоположное по значению данному:

	5. different
	a) unlike
	b) various
	c) same

	6. new
	a) modern
	b) old
	c) recent

	7. learn
	a) study
	b) examine
	c) teach

	8. except
	a) including
	b) besides
	c) beside


III. Выберите русский вариант, соответствующий данному английскому:

	9. most of the newcomers
	a) многие приезжие
b) большинство приезжих
c) все приезжие

	10. until the World War II
	a) после второй мировой войны
b) во время второй мировой войны
c) до второй мировой войны

	11. side by side
	a) на стороне
b) рядом
c) со стороны

	12. the second biggest city
	a) второй крупнейший город
b) второй крупный город
c) второй из крупнейших городов


IV.  Найдите слово, выпадающее из данной тематической группы:

	13.
	a) number
	b) group
	c) quantity
	d) style

	14.
	a) way
	b) manner
	c) example
	d) method

	15.
	a) almost
	b) usually
	c) generally
	d) often

	16.
	a) quite
	b) except
	c) completely
	d) perfectly


V.   Найдите слово, объединяющее данную тематическую группу:

	17.
	a) maple
	b) pine
	c) tree
	d) fir

	18.
	a) president
	b) head
	c) queen
	d) director

	19.
	a) mother
	b) father
	c) children
	d) family

	20.
	a) Quebec
	b) Ontario
	c) Province
	d) Manitoba


VI. Заполните пропуски словами, приведенными ниже и подчеркните их:

21. Any religious group in Canada can practice its … religion openly.

22. In 1842, half the people in Canada were of French ….

23. All … in Canada must be constitutionally equal.

24. Many Canadians have expressed the … that if Quebec wants to leave, it should be allowed to do so.

25. Many Canadians think that it is necessary to preserve Canada’s … multicultural society.

	a) feeling
	b) provinces
	c) own
	d) bilingual
	e) origin


Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: времена группы Continuous Active и времена группы Perfect Active; словообразование (суффиксы –ent/ant, -ance/ence, -ment, -al)

I.   По суффиксу определите, какому из английских слов соответствует предъявленное русское слово:

	1. национальность
	a) national

b) nationality

c) nation

	2. по-разному
	a) difference

b) different

c) differently

	3. правитель
	a) governor

b) government

c) governmental

	4. представление
	a) representative

b) representation

c) representational

	5. равные
	a) equal

b) equality

c) equally


II. Образуйте однокоренные существительные от данных глаголов, используя суффиксы, стоящие в скобках, и переведите их:

6. employ (ment)
7. enjoy (ment)
8. speak (er)
9. play (er)
10. depend (ence)
III. Из данных предложений выпишите те, сказуемое в которых стоит в Present Perfect. Подчеркните в них сказуемое и переведите предложения:

11. New immigrants to Canada had little money and no sponsors to help them.

12. Since the end of the war, people have come to live in Canada from almost every country in the world.

13. Canada has a new flag with a red maple leaf in the middle.

14. Canada has become a country of many cultures.

15. Canada became very wealthy because of all the things it produced.

IV. Закончите предложения одной из предложенных форм:

16. All of the differences … very much a part of what is so special about Canada today.

a) have become

b) are becoming

c) became

17. Nowadays, more and more Anglophones … to Ontario where mostly English is spoken.

a) move


b) are moving

c) had moved

18. Canada … to treat her own non-white citizens as generously as they deserve.

a) had just begun

b) has just begun

c) is just beginning

19. After the US … a lot of money in Canada, there were many jobs.

a) had invested

b) has invested

c) invest

V.    Какое из русских предложений соответствует предъявленному английскому:

20. The Indian and Eskimo populations have grown in the last few years.

a) Число индейцев и эскимосов растет в последние годы.

b) Число индейцев и эскимосов выросло в последние годы.

21. Immigration has changed the face of Quebec.

a) Иммиграция меняет облик Квебека.
b) Иммиграция изменила облик Квебека.
22. According to the statistics Quebec’s birthrate is dropping.

a) Согласно статистике рождаемость в Квебеке падает.

b) Согласно статистике рождаемость в Квебеке упала.

Понимание прочитанного

Прежде чем читать текст, обратите внимание на пояснения к тексту. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста.

	1.
	Canada is a good example of the way people of different ways of life and different languages can live side by side under one government. The population of Canada has risen from 11.5 million in 1941 to 25 million in 1980. Most of the newcomers are from Europe, Asia and the USA, so that today less than 44% of Canada’s population is of British origin. Quebec Province is still 90% French. There are some groups of French Canadians in Ontario and Manitoba, but the numbers are quite small.

	2.
	All Canadian children have to learn both French and English at school, but Francophones and Anglophones do not enjoy learning each other’s language. Still, most Quebecois middle class families living in Montreal are bilingual – they speak English and French equally well. Montreal is Fran-

	
	cophone and the second biggest city in Canada. But there are a lot of Anglophone businessmen there, and they usually employ Anglophone workers.

	3.
	Until the Second World War, every Canadian province except Quebec was overwhelmingly British, both by blood and in feeling. Some Canadians were more patriotic than the British themselves. Now Canadians think of themselves as a people in their own right, not tied to either Britain or the USA. The USA has not been a threat to Canada for almost two hundred years.

	4.
	The Canadian government is more British in style than American, except that it is a federal government. The head of government is the Prime Minister, often called the “PM”, as in Britain. The Federal Government has a Senate and House of Commons and each province also has a House of Commons.

	5.
	Canada now belongs to the Commonwealth of Nations (nations which once belonged to the British Empire). Her ties with the mother country are not as strong as they were. It has a new flag which has two red bands at either end with a red maple leaf in the middle. The maple tree is the national tree of Canada. Queen Elizabeth II is still Queen of Canada. She is head of the government, as in Britain, but has a Governor-General to represent her. She is still quite popular among Anglophone Canadians, but she is more popular still in the USA!


Пояснения к тексту:

Quebec, Ontario, Manitoba – Квебек, Онтарио, Манитоба (провинции Канады)

Anglophone – англоязычный
Francophone – франкоязычный
Montreal – Монреаль (город в провинции Квебек)

House of Commons – палата общин
Commonwealth (of Nations) – Британское Содружество (наций)

I.Какое из данных утверждений выражает основную идею текста?

a) Канада – это преимущественно англоязычная страна, входящая в Британское Содружество Наций.

b) Традиции, охраняемые потомками французских и британских колонистов, придают Канаде своеобразие.

c) Канада является частью Британского Содружества и до начала 80х годов ее конституция была под контролем Британского парламента.

II.Соответствуют ли данные утверждения содержанию текста? Выпишите номера соответствующих утверждений.

1. Население Канады увеличилось почти вдвое за счет иммигрантов.

2. Большинство населения – это потомки иммигрантов из Британии.

3. Образ жизни англоговорящих канадцев во многом похож на американский.

4. Правительство Канады состоит из Сената и Палаты Общин.

5. Канада вышла из Британского Содружества после Второй Мировой Войны.

III. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. How many French Canadians live in Ontario and Manitoba?

2. What province is much more French than Canadian?

3. What languages do most Quebecers speak?

4. What country does Canada border on?

5. Why does Quebec province want to be independent?
6. What is Canadian flag like?

IV. Составьте план текста в виде утверждений на английском языке.

V.    Переведите письменно 2, 3 и 4 абзацы текста.

КОНТРОЛЬНАЯ РАБОТА № 4

Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to regard, mirror, alloy, to rely on, within, branch, tool, account, event, to allow, exact, prediction, to govern, to obey, flow, heat, fluid, liberty, to argue, error, measurement, key.

Лексика

I. Найдите и запишите слово, объединяющее данную тематическую группу:

	1.
	integral
	a) calculus
	b) differential
	c) functional

	2.
	science
	a) natural
	b) social
	c) exact

	3.
	historical
	a) political
	b) international
	c) event

	4.
	air
	a) flow
	b) heat
	c) fluid


II. Найдите и запишите слово, выпадающее из данной тематической группы:

	5.
	mathematician
	a) physicist
	b) technician
	c) mathematics

	6.
	star
	a) branch
	b) telescope
	c) planet

	7.
	remote
	a) distant
	b) large
	c) far

	8.
	idea
	a) purpose
	b) aim
	c) objective


III. Выберите и запишите слово, одинаковое по значению с данным:

	9.
	various
	a)
	same
	b)
	different
	c)
	similar

	10.
	to produce
	a)
	to make
	b)
	to show
	c)
	to penetrate

	11.
	tool
	a)
	alloy
	b)
	part
	c)
	instrument


IV. Выберите и запишите слово, противоположное по значению данному:

	12.
	great
	a)
	unimportant
	b)
	big
	c)
	enormous

	13.
	to reflect
	a)
	to regard
	b)
	to govern
	c)
	to absorb

	14.
	within
	a)
	inside
	b)
	outside
	c)
	near


V.   Выберите и запишите русское словосочетание соответствующее данному английскому:

	15.
	most important part
	a) самая важная часть

b) более важная часть


	16.
	one of the greatest scientists
	a) один из величайших ученых

b) один великий ученый

	17.
	exact prediction
	a) точно предсказанный

b) точное предсказание

	18.
	the same laws
	a) те же законы

b) некоторые законы

	19.
	nature of matter
	a) природное вещество

b) природа вещества


VI. Заполните пропуски словами, данными ниже:

19.  He gave much of his time to determining the … which rule the universe.

20.  Newton discovered why the prism breaks up sunlight into ….

21.  The study of … was Newton’s favourite study.

22.  He made a number of experiments with lenses and came to important … conclusions.

23.  In 1668 Newton invented the … telescope.

a) scientific

b) light
c) laws
d) reflecting
e) colours

Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: Passive Voice, Modal Verbs and Their Equivalents, словообразование (суффиксы –ly, -al, -ian, -ment, -cian, -able, -ist, -es, -ing)

I.    По выделенному суффиксу определите часть речи:

	1.
	mostly
	a) наречие

b) прилагательное

	2.
	astronomical
	a) существительное

b) прилагательное

	3.
	technician
	a) существительное

b) глагол

	4.
	achievement
	a) прилагательное

b) существительное

	5.
	deviation
	a) наречие

b) существительное


II. По выделенным словообразовательным элементам определите, какому из английских слов соответствует предъявленное русское слово:

	6.
	опытный
	a) experimental

b) experimenter

c) experimentally

	7.
	технически
	a) technical

b) technician

c) technically

	8.
	физик
	a) physics

b) physicist

c) physical

	9.
	измеряемый
	a) measurement

b) measuring

c) measurable


III. Из данных предложений выпишите и переведите то, в котором глагол to have выражает долженствование:

10. Another scientist had suggested this idea half a century before Newton.

11. He had to experiment with various alloys, and to grind his own mirrors.

12. Only those who had great thirst for knowledge could develop their talents studying by themselves.

IV. Из данных предложений выпишите и переведите то, в котором глагол to be выражает долженствование:

13. At 27 he was a professor at Cambridge and was to give one lecture a week.

14. It was Newton who said that light is a combination of different colours.

15. At the age of twelve Newton was sent to the small town of Grantham to attend the Grammar school.

V.    Из данных предложений выпишите и переведите те, в которых сказуемое стоит в Passive Voice:

16. People invented many strange tales to explain a rainbow.

17. A rainbow is formed when sunlight passes through falling drops.

18. He proved that white light consisted of rays of different colours and that each colour had its own place.

19. Every particle of matter in the universe is attracted to every other particle of matter.

20. Methods of calculation invented by Newton have ever since been used by every kind of scientist.

VI. Выберите и выпишите соответствующую форму глагола:

21. Newton’s great work, the “Principia”, was published / published in 1687.

22. Mechanical laws acting on the earth connect / are connected with the mechanical laws of the whole Universe.

23. Newton had solved / had been solved one of the great riddles of the Universe.

24. Gravity had known / had been known long before Newton’s time.

25. Newton was spent / spent most of his time in experiments and calculations.

Понимание прочитанного

I.     Прочтите пояснения к тексту:

Great Rebellion – “Великий мятеж” (неодобрительное название гражданской войны в Англии в XVII веке)

conjuring tricks – фокусы иллюзиониста

concave mirror – вогнутое зеркало

rather than – а не …

differential (integral) calculus – дифференциальное (интегральное) исчисление

Warden of the Mint – смотритель монетного двора

Royal Society – Королевское (научное) общество

II. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

Isaac Newton (1642 - 1727)

	1
	Isaac Newton was born on Christmas Day, 1642, in the first year of the Great Rebellion. Many people regard him as the greatest man whom England has produced but we mostly know very little about him.

	2
	As a boy we know that he interested himself in conjuring tricks. As a man he made his first reflecting telescope whose most important part is a concave mirror, not lens. For this purpose he had to experiment with various alloys, and to grind his own mirrors. Today all large astronomical telescopes rely on mirrors rather than lenses to concentrate the light from distant stars. As an experimenter he showed that white light could be split up into colours. He also worked on static electrification.

	3
	Newton will always be remembered as a great technician and a very great experimental physicist. In addition he was one of the greatest mathematicians, perhaps the greatest who ever lived. At the age of 22 he invented what is now called the differential calculus, and at the age of 23 – the integral calculus. Both these branches of mathematics were essentially tools of his great project of producing a mechanical account of natural events which would allow of their exact prediction. 

	4
	The principles governing the flight of cannon balls were being worked out at this time. Newton showed that the Moon in its course round the Earth and other planets in their course round the Sun, obeyed the same laws. This was a very great mathematical achievement. He also discovered the laws governing the flow of heat and some fluids. How deeply Newton penetrated into the nature of matter, is shown by a simple fact. The moving stars do not obey Newton’s laws exactly. But their largest deviations from these laws are about one three hundredth part of the errors of measurement made by astronomers in Newton’s day. 

	5
	Newton was not only a scientist. He also was a politician. In 1687 King James II threatened the liberties of Cambridge University. Newton argued the case for the University and was elected by it to Parliament in 1689, as 

	
	a supporter of the Revolution. He later became Warden and then Master of the Mint. These were key points as there was no paper money in those days, so the Mint was as important as the great banks are today. His knowledge of metallurgy was put in the service of the state. In 1703 Newton was elected President of the Royal Society, the highest body of scientific learning in England.

	6
	In fact Newton took part in the progressive political movements of history. Like most great men, he was an all-rounded man. The idea that scientists should shut themselves away from everyday life did not appeal to him. He saw that science arises from, and ministers to, social needs, and he acted accordingly.


III. Какое из данных утверждений выражает основную идею текста?

1. Newton was one of the greatest minds of his time and gave all his time to determining the laws which rule the Universe.

2. Newton led a quiet life in study and scientific work indifferent to what was going on around him.

3. Newton was not only a man of science but also a politician and the holder of some key posts.

IV. Запишите номер абзаца, в котором вы найдете ответ на вопрос:

What are the achievements of Newton in the field of mathematics?

V.    Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. Newton invented mathematical tools allowing to predict natural events.

2. Newton took an active part in the political movement of his day.

3. Newton is known to be the greatest scientist of Great Britain.

4. Newton showed that the motion of the planets were the natural results of universal laws of nature.

5. As a technician, he made contribution to the development of astronomy.

VI. Есть ли в тексте ответы на вопросы? Запишите “да” или  “нет”.

1. Where was Newton born?

2. What did he invent for observing the Moon and stars?

3. What was Newton’s favourite study?

4. What was Newton besides being a great scientist?

5. Why was the post of Master of the Mint very important?

VII. Переведите письменно 3 и 4 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 4

Вариант B
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to award, to design, benefit, promotion, manufacturing, annual, fluent, wealthy, fortune, peacekeeping, to reduce, substance, cost, way, tremendous, suggestion, investigation, to add, to train, achievement, to invent, to become, own, science.

Лексика

I.     Найдите и запишите слово, объединяющее данную тематическую группу:

	1.
	chemistry
	a) physics
	b) science
	c) physiology

	2.
	nitroglycerine
	a) substance
	b) dynamite
	c) silica

	3.
	poetry
	a) novel
	b) story
	c) literature

	4.
	education
	a) lecture
	b) seminar
	c) examination


II. Найдите и запишите слово, выпадающее из данной тематической группы:

	5.
	achievement
	a) success
	b) progress
	c) suggestion

	6.
	fluent
	a) great
	b) large
	c) tremendous

	7.
	to design
	a) to develop
	b) to become
	c) to construct

	8.
	technique
	a) field
	b) manner
	c) way


III. Выберите и запишите слово, одинаковое по значению с данным:

	9.
	manufacturing
	a)
	production
	b)
	promotion
	c)
	benefit

	10.
	to call
	a)
	to add
	b)
	to confer
	c)
	to name

	11.
	fortune
	a)
	wealth
	b)
	prize
	c)
	cost


IV. Выберите и запишите слово, противоположное по значению данному:

	12.
	to send
	a)
	to train
	b)
	to receive
	c)
	to award

	13.
	international
	a)
	final
	b)
	annual
	c)
	local

	14.
	to reduce
	a)
	to increase
	b)
	to insert
	c)
	to direct


V.    Выберите и запишите русское словосочетание соответствующее данному английскому:

	15.
	among the most prestigious awards
	a) среди самых престижных наград

b) наряду с самыми престижными наградами

	16.
	different techniques
	a) различные технические приемы

b) различные области техники

	17.
	chemical engineering
	a) инженер-химик
b) химическая технология

	18.
	foundation for the work
	a) основа для работы

b) основная работа

	19.
	led to invention of dynamite
	a) вследствие изобретения динамита

b) привело к изобретению динамита


VI. Заполните пропуски словами, данными ниже:

20.  Alfred Nobel built up over 80 companies in 20 … countries.
21.  Nobel prizes are awarded on December 10, the … of Nobel’s death.
22.  The Committee starts its own … into research projects.
23.  He quickly saw a favourable set of conditions for his scientific ….
24.  Laureates arrive at Stockholm during the second week in December to prepare for the … ceremony.
a) investigation
b) award
c) invention
d) different

e) anniversary

Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: Passive Voice, Modal Verbs and Their Equivalents, словообразование (суффиксы –ly, -er/or, -tion, -ist, -ous, -able, -ic, -al, -less, -y, -ize)

I. По выделенному суффиксу определите часть речи:

	1.
	prestigious
	a) глагол

b) прилагательное

	2.
	wealthy
	a) прилагательное

b) наречие

	3.
	developer
	a) существительное

b) прилагательное

	4.
	invitation
	a) прилагательное

b) существительное

	5.
	controllable
	a) прилагательное

b) глагол


II. По выделенным словообразовательным элементам определите, какому из английских слов соответствует предъявленное русское слово:

	6.
	направление
	a) director

b) directly

c) direction

	7.
	признавать
	a) recognition

b) recognize

c) recognizable

	8.
	ученый
	a) scientist

b) scientific

c) scientifically

	9.
	бесформенный
	a) shaper

b) shapely

c) shapeless


III. Из данных предложений выпишите и переведите то, в котором глагол to have выражает долженствование:

10. The American industry has financed research labs generating basic research.

11. The Nobel prizes had tremendous prestige and offered significant financial rewards.

12. Alfred Nobel had to move to Russia with his parents in 1842.

IV. Из данных предложений выпишите и переведите то, в котором глагол to be выражает долженствование:

13. World-famous for his works Nobel was never personally well known.

14. The award ceremony was to take place at the Oslo Town Hall.

15. His invention was help during the area of rapidly growing industries.

V. Из данных предложений выпишите и переведите те, в которых сказуемое стоит в Passive Voice:

16. His greatest wish was to see an end of wars.

17. Each year, thousands of international experts are invited to nominate candidates.

18. Sir Winston Churchill received a literature prize in 1953.

19. Many scientists were attracted to American universities by generous research funds.

20. Alfred Nobel is remembered long after his death. 

VI. Выберите и выпишите соответствующую форму глагола:

21. The Nobel Committee for physics invites / is invited 2,000 professors to nominate candidates.

22. In his famous will Nobel left / was left money to provide prizes for outstanding works in science.

23. Large amounts of money donated / were donated by Nobel’s relatives to research and education.

24. The safety of explosives improved / was improved by inventing dynamite.

25. He quickly saw / was seen industrial openings for his scientific inventions.

Понимание прочитанного

I.     Прочтите пояснения к тексту:

mine – мина

blasting – взрывание

rock – горная порода

silica – двуокись кремния

drilling holes – буровые скважины

International Court of Justice – Международный суд
the Hague – г. Гаага
will – завещание

II.    Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:
Alfred Nobel (1833 - 1896)

	1.
	The first Nobel prizes were awarded in 1901 to carry out the final wishes of the Swedish chemist and inventor Alfred Nobel, who wanted to recognize people whose work conferred “the greatest benefit on mankind”. The annual awards in the sciences, literature and the promotion of the international peace are among the most prestigious in the world. Nobel’s interest in rewarding achievements in five fields was rooted in family tradition and his own life experience.

	2.
	Nobel was born in Stockholm on October 21, 1833. His father, Immanuel Nobel, was an engineer and inventor. He designed steam engines and underwater mines. He also was a pioneer in arms manufacturing and had experimented with different techniques of blasting rocks.

	3.
	When Alfred was young the family had to move to Russia. There, Alfred and his brothers received a first-class education. By the age of 17, Alfred was fluent in five languages and had developed interests ranging from chemistry to English poetry. Soon after young Nobel was sent to Paris for more training in chemical engineering. This gave him the foundation for the work that would place him in history books.

	4.
	A meeting with Italian chemist Ascanio Sobrero, who invented nitroglycerine, led to Nobel’s invention of dynamite. As nitroglycerine and its production were difficult to control Nobel tried adding silica to make a paste that could be shaped into rods and inserted into drilling holes. In 1867, he patented his material, calling it dynamite. As a man who discovered how to reduce costs for blasting rocks and drilling tunnels, Nobel became a very wealthy man.   

	5.
	He died in Italy on December 10, 1896. In his will, he directed that his fortune be used for prizes in chemistry, physics, physiology or medicine, literature and peacekeeping. The prize in economic sciences was established in 1968 to commemorate the Bank of Sweden’s 300th anniversary. According to Nobel’s wishes the prizes in science and literature were to be awarded by a Swedish Committee, while the peace prize was to be given out by the Norwegian Nobel Committee. Each year, thousands of international experts and research institutes are invited to nominate candidates. Members of governments and the International Court of Justice at the Hague can make suggestions for the peace prize. The nominators are carefully investigated and a vote is taken.


III. Какое из данных утверждений выражает основную идею текста?

1. Nobel’s famous will, in which he left money for prizes in science and literature, is a memorial to his interests and ideals.

2. Alfred Nobel, the great Swedish inventor and chemist, was a man of many contrasts.

3. Nobel had outstanding ability to combine the qualities of an original scientist and a forward-looking industrialist.

IV. Запишите номер абзаца, в котором вы найдете ответ на вопрос:

What position did Nobel’s father make for himself in the engineering industry?

V. Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. All prizes, except the Peace Prize, are awarded in Sweden.

2. At about twenty Alfred Nobel was already a skillful chemist and an excellent linguist.

3. The Nobel prizes are among the most prestigious prizes in science and literature.

4. Nobel’s father was a talented engineer and inventor.

5. Nobel invented dynamite to improve drilling and road building.

VI. Есть ли в тексте ответы на вопросы? Запишите “да” или  “нет”.
1. Who chose the five fields of science for awarding prizes?

2. Did Immanuel Nobel, being a skillful inventor, make a fortune?

3. What foreign languages did Alfred Nobel speak?

4. When are the Nobel prizes awarded?

5. Where is the prize for the promoting international peace awarded?

VII. Переведите письменно 4 и 5 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 4

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

almost, always, to educate, to learn, inspiration, to set up, habit, chemicals, workshop, to improve, schooling, to fail, failure, discouraged, forever, to manufacture.

Лексика

I.     Найдите и запишите слово, объединяющее данную тематическую группу:

	1.
	to learn
	a) to teach
	b) to train
	c) to educate

	2.
	projector
	a) equipment
	b) camera
	c) phonograph

	3.
	laboratory
	a) invention
	b) experiment
	c) discovery

	4.
	magazine
	a) newspaper
	b) information
	c) book


II. Найдите и запишите слово, выпадающее из данной тематической группы:

	5.
	history
	a) literature
	b) math
	c) chemicals

	6.
	train
	a) workshop
	b) passenger
	c) baggage car

	7.
	inspiration
	a) education
	b) schooling
	c) training

	8.
	to produce
	a) to manufacture
	b) to sell
	c) to make


III. Выберите и запишите слово, одинаковое по значению с данным:

	9.
	job
	a)
	way
	b)
	corner
	c)
	work

	10.
	to start
	a)
	to set
	b)
	to fail
	c)
	to talk

	11.
	famous
	a)
	discouraged
	b)
	formal
	c)
	well-known


IV. Выберите и запишите слово, противоположное по значению данному:

	12.
	failure
	a)
	habit
	b)
	success
	c)
	life

	13.
	always
	a)
	almost
	b)
	forever
	c)
	never

	14.
	quickly
	a)
	slowly
	b)
	only
	c)
	early


V.    Выберите и запишите русское словосочетание соответствующее данному английскому:

	15.
	he educated himself
	a) он преподавал сам

b) он занимался самообразованием

	16.
	let him set up a laboratory
	a) позволил ему устроить лабораторию

b) устроил для него лабораторию

	17.
	one of these books
	a) одна из этих книг

b) одни эти книги

	18.
	he read almost everything
	a) он всегда все читал

b) он читал почти все


VI. Заполните пропуски словами, данными ниже и подчеркните их:

20.  One of the first inventions was … Bell’s telephone.
21.  Edison patented over 1000 inventions which … our ways of life.
21.  The time in which Edison lived was an age of ….

22.  Few people realized how … Edison worked.

23.  With whatever money he earned, he bought more chemicals for his ….

a) experiments
b) invention
c) to improve
d) hard
e) changed

Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать следующие темы: Passive Voice, Modal Verbs and Their Equivalents, словообразование (суффиксы –ly, -al, -ful, -less, -able, -est, -ian, -tion, -or, -ity, -ance)

I. По выделенному суффиксу определите часть речи:

	1.
	readable
	a) прилагательное

b) глагол

	2.
	historian
	a) прилагательное

b) существительное

	3.
	interruption
	a) прилагательное

b) существительное

	4.
	smallest
	a) прилагательное

b) глагол

	5.
	meaningful
	a) наречие

b) прилагательное


II. По выделенным словообразовательным элементам определите, какому из английских слов соответствует предъявленное русское слово:

	6.
	педагог
	a) education

b) educator

c) educational

	7.
	заботливый
	a) careless

b) carefully

c) careful

	8.
	электрик
	a) electrical

b) electrician

c) electricity

	9.
	проводник

	a) conductor

b) conductance

c) conduction


III. Из данных предложений выпишите и переведите то, в котором глагол to have выражает долженствование:

10.  Edison never had enough money left over to buy warm clothes.

11.  In studying the problem of the “arc” lamp Edison had to test 1,600 materials.

12.  For years other inventors had experimented with electric lights.

IV. Из данных предложений выпишите и переведите то, в котором глагол to be выражает долженствование:

13.  In 1847 America was just beginning its great industrial development.

14.  The carbon “arc” lamp was highly successful for street lighting.

15.  Edison’s invention factory was to turn out inventions every few days.

V.    Из данных предложений выпишите и переведите те, в которых сказуемое стоит в Passive Voice:

16.  Edison equipped his laboratory with good scientific instruments.

17.  The new laboratory was devoted to organized industrial research.

18.  Most of Edison’s inventions were the results of hundreds of experiments.

19.  Masses of people all over the world were released from their dependence on oil and gas lamps for light.

20. Enormous steam engines were used for power in factories.

VI. Выберите и выпишите соответствующую форму глагола:

21.  Edison received / was received many honours for his contributions to the progress of mankind.

22.  Edison awarded / was awarded a special congressional Medal of Honour.

23.  Edison never considered / was considered himself a brilliant man.

24.  He also perfected / was perfected the electric motor which made electric trains possible.

25.  In the new laboratory an even larger corps of research assistants employed / were employed.

Понимание прочитанного

I.     Прочтите пояснения к тексту:

It was one of these books that helped … - именно одна из этих книг помогла 

perseverance – упорство, настойчивость

baggage car – багажный вагон
baggage master – начальник багажного вагона
home-made gadget – самодельное устройство 

patent-right – патентное право
motion picture camera and projector – кинокамера и кинопроектор
II. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

Thomas Alva Edison (1847 - 1931)

	1
	When we talk of education, it is almost always meant “going to school”. But education is much more than that. Thomas Edison went to school for only three months, but he educated himself for all the 84 years of his life. Tom learned to read quickly, and reading gave him both information and inspiration. Even as a small boy, Thomas Edison had always asked questions about how things worked and why things were the way they were. 

	2
	He read books on literature, history, maths and science, and it was one of these books that helped him shape his early life. A science book by R. C. Parker showed him how experiments should be done. Tom set up a laboratory in the basement of the family home where each of the experiments discussed in the book was carefully conducted by him. Reading and experimenting were two of the habits which helped make him famous. The other habits were perseverance and hard work. 

	3
	Tom started earning money when he was ten or eleven years old. Before the age of 14 he had to sell magazines and newspapers to the passengers on the train which traveled between his hometown and Detroit. His experiments were not interrupted because the baggage master let him set up a small laboratory in one of the corners of the baggage car where he could experiment with his chemicals, batteries, wires and home-made gadgets.

	4
	When Edison was 17 he produced his first practical invention, a repeating telegraph. Still in his twenties, he earned over $40,000 for some of his early patent rights and with that money opened his first laboratory and workshop where inventing became his business. There he produced the phonograph and the light bulb, improved electrical and telephone equipment, invented motion picture camera and projector.

	5
	Thomas A. Edison lived to be 84 years old. In his lifetime over a thousand inventions were produced. He had only three months of formal schooling but he knew that education was a life-long process and he read almost everything he could find. He believed in himself and he worked long and hard at his many jobs. He failed many times but even failure was a part of his education. Because he read and worked and experimented, and never let himself become discouraged, he changed our world and our lives forever.


III. Какое из данных утверждений выражает основную идею текста?

1. Edison had carried out a translation in the 19th century science from the industrialistic way of invention to specialized teams engaged in systematic research.

2. Edison had never been to university but he educated himself all his life and became the world’s leading inventor.

IV. Edison contributed greatly to the progress of mankind and his assistants became world-known directors of companies and Nobel Prize winners.

V. Запишите номер абзаца, в котором вы найдете ответ на вопрос:

What helped Edison shape his life?

VI.    Расположите данные пункты плана в последовательности, соответствующей содержанию текста:

1. Thomas Alva Edison belongs to the world’s great contributors to industrial development.

2. The need to earn money did not prevent him from self-educating.

3. Reading and inquisitive mind helped Edison to educate himself.

4. Still in his twenties Edison earned enough money to form his own “factory of invention”.

5. One of the books became his handbook for making experiments.

VI.  Есть ли в тексте ответы на вопросы? Запишите “да” или  “нет”.

1. Why did Edison go to school for only three months?

2. Who is the author of the book that taught him to experiment?

3. Where did Edison make experiments when he worked as a sales boy on a train?

4. What invention did he earn $40,000 for?

5. How did the American government appreciate Edison’s contribution to the progress of mankind?

VII.  Переведите письменно 2, 3 и 4 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 5

Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

filament, device, to solve, to invent, engineering, to create, lighting, to turn into, advantage, to devote to, to consist of, to serve, instead of, hard, numerous, to satisfy, to perfect, to increase, to support, to consider, to exist, tungsten, to introduce, still, by means of, service, to resign, doubt, close, to achieve, to connect.

Лексика
I. Выберите русское словосочетание, соответствующее данному английскому:

	1.
	metal filament lamp
	a) металлическая нить накала лампы

b) лампа с металлической нитью накала

	2.
	laboratory device
	a) лабораторный прибор

b) лаборатория приборов

	3.
	technical problems solving
	a) технические проблемы решения

b) решение технических проблем

	4.
	a means of electric lighting
	a) средство электрического освещения

b) посредством электрического освещения


II. Из данных слов выберите то, которое закончит предложение:

5. To make a suitable lamp … was an extremely difficult thing.

a) problem 

b) filament 

c) tungsten

6. All newspapers published articles discussing the great ….

a) invention 
b) engineering 
c) service

7. Incandescent lamps of older types had carbon filaments … in different ways.

a) considered 
b) introduced 
c) produced

8. These facts are connected with the history of electrical ….

a) advantage 
b) engineering 
c) application

9. Lodygin was very young when he … his flying machine.

III. a) designed 
b) resigned 

c) increased

IV. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

10.  A.N. Lodygin is a well-known Russian scientist and inventor.

a) talented 

b) famous 

c) great

11. The source of light invented by the Russian scientist won world-wide recognition.

a) created  

b) studied 

c) demonstrated

12.  Lodygin constructed a lamp which could burn for two hours.

a) perfected 
b) laid 

c) made

13.  In 1872 Lodygin constructed a number of incandescent lamps.

a) several 

b) lots of 

c) many

14.  Lodygin spent all money he had in his numerous experiments.

V. a) a few  

b) many 

c) few

VI. Подберите к началу предложения из колонки А окончание предложения в колонке В. Полученные предложения переведите:

	15.
	Lodygin laid the foundation 
	a
	use tungsten for filaments.

	16.
	The incandescent lamp is the source
	b
	used for lamp filaments.

	17.
	Lodygin was the first to
	c
	for producing modern lamps.

	18.
	Edison solved the problem
	d
	of the electric light.

	19.
	Tungsten is now mostly 
	e
	of cheap electric lighting.


Грамматика
Для успешного выполнения заданий по грамматике необходимо проработать формы и функции герундия, формы и функции причастия, независимый причастный оборот. Упражнения на словообразование включают суффиксы –ion, -ly, -ment, -ance/ence, -er/or.

I.     Используя суффиксы –ion, -ment, -ance, -ful, -less, -ly, -al, образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	create
	5.
	doubt

	2.
	close
	6.
	connect

	3.
	achieve
	7.
	practice

	4.
	success
	8.
	import


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to invent, to improve, to depend, to assist и переведите их.

9. In 1873 Lodygin demonstrated his ….

10.  Edison worked at the … of the incandescent lamp.

11.  Edison was so famous as an … that people thought there was nothing he could do.

12.  Masses of people were released from their … on oil and gas lamps for light.

13.  In the new laboratory Edison employed a large number of  research ….

III. Выберите предложение, в котором Participle II выполняет роль определения и переведите его.

14. The improvement of the incandescent lamp interested Edison greatly.

15. The tungsten filament heated by an electric current radiates light.

16. When appeared first, Lodygin’s lamp attracted Edison’s attention.

IV. Выберите правильный перевод выделенных слов с суффиксом –ing.

17. In building atomic power stations we have to solve many problems.

a) строя 

b) построенные 

с) построив

18. Considering different metal filaments is the purpose of our work.

a) рассматривая 
b) рассмотрение 
с) рассмотрев

19. Solving this problem we used the new approach.

a) решая 

b) решение 

с) решив

V.    Выберите подходящие по смыслу причастия. Предложения переведите.

20. The physics laboratory moved to a new house specially built / building for it.

21. Having performed / Performing the experiment, they started new investigation.

22. The work being done / doing showed clear deviation (отклонение) from practical problems.

23. Tungsten is the very metal used / using for production of lamp filaments.

VI. Выберите и переведите предложения, содержащие независимый причастный оборот.

24. When examined titanium proved to be the metal with promising properties.

25. Several theories have been advanced to explain this phenomenon, the best theory being the theory developed by a well-known scientist.

26. After the professor had left the laboratory, the experiment was over.

27. The investigations having been made, we obtained good results.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

Incandescent Lamps

	1.
	The creation of the first incandescent lamp is closely connected with the name of the well-known Russian scientist and inventor A.N. Lodygin. He laid the foundation for producing the present day incandescent lamps that are much more economical than the lamps with carbon electrodes. Lodygin was the first to turn a laboratory device into a means of electric lighting. He was also the first inventor to discover the advantages of the metal wire filaments in comparison with other filaments. 

	2.
	Lodygin’s great achievements paved the way for further successful work of a number of other Russian electrical engineers. His parents gave him a military education but military service did not interest him at all. So, he resigned soon and devoted all his time to the study of engineering and technical problems solving. 

	3.
	In 1872 Lodygin constructed a number of incandescent lamps, these first lamps consisting of a glass bulb with a carbon rod serving as a filament. In 1873 he produces an improved lamp having two carbon electrodes instead of one and a longer life. That very year Lodygin demonstrated his invention in several Petersburg streets, lighting them by means of his electric lamps. It was the first practical application of the incandescent lamp for lighting purpose. Lots of people went out into the streets to see electric light for the first time in their life as a matter of fact, for the first time in the world.

	4.
	Lodygin was never satisfied with his achievements and continued to perfect his inventions. Indeed, a more perfect lamp designed by him appeared in 1875. The interest in Lodygin’s lamp greatly increased. In 1877, a Russian officer showed Lodygin’s lamp to the famous American inventor Edison. Edison, with his usual energy set to work improving the lamp and later patented incandescent lamp with a carbon filament. However, even an American court ruled that Edison was not the inventor of the incandescent lamp and this is also stated in the Encyclopedia Britannica, the most authoritative work of reference in the Anglo-Saxon world.

	5.
	However, under very hard economic conditions existing in tsarist Russia he got neither help nor the necessary support for realizing his plans. He himself was practically without money, having spent all he had on his numerous experiments. Lodygin’s study of metal filaments having a high melting point is a work of world importance. It is he who introduced tungsten filaments in vacuum. He received a patent for his invention in America. Tungsten is still considered to be the very metal that should be used for filament production. The electric lamps that light your room every evening doubtless have tungsten filaments. Lodygin died on the 16th of March, 1923 at the age of 76. Death carried away a great Russian scientist, the first to have used the incandescent lamp as a means of lighting.


Прочтите пояснения к тексту:

incandescent lamp – лампа накаливания

pave the way – подготовить почву для

court – суд

rule that – постановлять

the most authoritative work of reference in the Anglo-Saxon world – самый авторитетный справочный труд в англосаксонском мире
neither (nor) – ни … ни …

it is he who introduced – именно он ввел …

the very – тот самый
I. Какое из данных утверждений выражает основную идею текста:

1)  Lodygin’s contribution to the development of incandescent lamps.

2)  Advantages and disadvantages of different lamp filaments.

3)  The efficiency of incandescent lamps.

II. Соответствуют ли данные утверждения содержанию текста:

1. Lodygin worked in the field of electrical engineering.

2. Lodygin combined military service with studying engineering.

3. Lodygin was the first to use the incandescent lamp for lighting.

4. Two great inventors played a prominent part in the development of the incandescent lamp.

5. The Russian government supported Lodygin because of the importance of his invention.

III. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. What another Russian scientist worked in electrical engineering?

2. Who is the founder of the modern incandescent lamp?

3. Did Lodygin want to serve in the army?

4. What was the structure of the first lamps?

5. How many electrodes did an improved lamp have?

6. Where was the invention demonstrated?

7. In what countries was this invention also demonstrated?

8. Was Lodygin satisfied with the result of his work?

9. What famous American inventor worked at the improving the lamp?

10.  Did Lodygin patent his invention?

IV. Ответьте письменно на вопросы к тексту:

1. When did Lodygin demonstrate his invention?

2. When and how did Edison learn about the Lodygin’s lamp?

3. What metal is used for filaments now?

V. Переведите письменно 3 и 4 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 5

Вариант B
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

device, to express, to perfect, to transmit, distance, to warn, to approach, society, transmission, wireless, importance, to appear, to claim, means, namely, reception, audible, by means of, successful, to complete, to acknowledge, representative, profit, commercial, achievement, to appreciate, to carry out, significance, instead, assistance, to attach. 

Лексика

I. Выберите русское словосочетание, соответствующее данному английскому:

	1.
	in the same year
	a) в том же году

b) в следующем году

	2.
	proved of great importance
	a) доказало огромную важность

b) оказалось очень важным

	3.
	means of communication
	a) посредством связи

b) средства связи

	4.
	drew attention of many countries
	a) привлекло внимание многих стран

b) обратили внимание на многие страны


II. Из данных слов выберите то, которое закончит предложение: 5.Popov gave his country the best of his ….
a) assistance 
b) knowledge 
c) significance

6.  Russian scientists further developed and … the radio.

a) improved 
b) recorded 
c) attached

7.  By his … Popov made a great contribution to the development of communication.

a) reception 
b) transmission 
c) invention

8.  The receiver … waves generated by lightning discharges.

a) recorded 
b) described 
c) expressed

9.  Radio devices have made it … to obtain information about mysterious phenomena.

a) rapid 
b) possible 
c) important

III. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

10.  Popov made an apparatus which became the greatest means of communication.

a) device 

b) invention 

c) achievement

11.  He laid the foundation for further progress in the field of radio-engineering.

a) result 

b) experiment 

c) branch

12.  The day when the invention was demonstrated is the date of the birth of the radio.

a) provided 
b) shown 

c) completed

13.  The methods of radio-engineering are now used in various fields of science.

a) different 

b) immense 
c) important

14.  The words “Heinrich Herz” were transmitted by wireless telegraphy in Morse code.

a) made 

b) realized 

c) sent

IV. Подберите к началу предложения из колонки А окончание предложения в колонке В. полученные предложения переведите:

	15.
	The story of radio begins
	a)
	was constructed near Moscow.

	16.
	Popov lived and worked
	b)
	studied with the help of radio.

	17.
	Distant areas of the Universe are
	c)
	with Joseph Henry, an American physicist.

	18.
	In 1920 a powerful radio telephone station
	d)
	made of some kind of radio equipment.

	19.
	There is no branch of science where use is not 
	e)
	under very hard conditions.


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать формы и функции герундия, формы и функции причастия, независимый причастный оборот. Упражнения на словообразование включают суффиксы –less, -al, -ly, -er/or, -y, -tion, -ist, -ance, -ant, -ment.

I.     Используя суффиксы –ance, -er, -y, -ist, -tion, -al, -less, -ly, образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	receive
	5.
	practice

	2.
	successful
	6.
	produce

	3.
	discover
	7.
	special

	4.
	wire
	8.
	import


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to invent, to achieve, to communicate, to assist и переведите их.

9. Radio devices perform various … tasks.

10.  Radio occupies one of the leading places among the greatest … of modern engineering.

11.  A.S. Popov – the great Russian … - was born in 1858.

12.  Popov carried out many experiments together with his … Rybkin.

13.  The tsarist government did not give any … to Russian scientists.

III. Выберите предложение, в котором Participle II выполняет роль определения, и переведите его.    

14.  Heinrich Hertz proved by experiments the existence of electromagnetic waves.

15.  Popov solved many technical problems such as the introduction of electricity into the Navy.

16.  After many experiments the device constructed by Popov began receiving electromagnetic waves.

IV. Выберите правильный перевод выделенных слов с суффиксом –ing.

17.  Creating new research institutes we develop our science.

a) создавая 
b) создание 
с) созданный

18.  Measuring resistance is necessary in many experiments.

a) измеряя 

b) измерение 
с) измеренный

19.  In solving problems it is necessary to distinguish between facts and hypothesis.

a) решая 

b) решение 
с) решенные

V.    Выберите подходящие по смыслу причастия. Предложения переведите.

20. While experimenting / experimented the scientist connected a wire to the receiver.

21. The first radio-receiving set was demonstrated / demonstrating by A.S. Popov in 1895.

22. Having connected / Connected wires to the receiver he increased its range (диапазон).

23. The experiments carrying out / carried out by Popov at sea were very successful.

VI. Выберите и переведите предложения, содержащие независимый причастный оборот.

24.  He always carried on some practical work, solving many technical problems.

25.  Popov has become the inventor of the radio, May, 7, being celebrated each year as “Radio Day”.

26.  All the experiments having been completed, serious practical testing began.

27.  In this way the future wireless communication between the continents was being prepared.

Понимание прочитанного

I. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

The Invention of the Radio

	1.
	On April, 25, 1895, A.S. Popov demonstrated his device. Having summarized the results of his experiments, Popov expressed his hope that the device, after being perfected, would make possible transmitting signals at a distance by means of rapid electrical oscillations. In summer 1895, Popov’s invention was successfully tested and in the same year he attached to the device an apparatus previously used for recording telegrams. In the following year this receiver was used at the electric power station in Nizhy Novgorod for warning about approaching thunderstorms.

	2.
	The great Russian inventor did not make any secret of his discovery, describing it in the press and making reports about it at the meetings of scientific societies. In the same year he demonstrated the transmission of words over a wireless telegraph. This new demonstration proved of great importance as later on, in England, there appeared a person, Marconi by name, who claimed to be the inventor of this new means of communication.

	3.
	The year 1898witnessed a new important invention made by Popov together with his assistants Rybkin and Troitsky, namely the reception of audible signals by means of a receiver. All these successful experiments having been completed, serious practical testing began. Popov’s radio telegraph helped to save the battleship “General Admiral Apraksin”.

	4
	Popov’s work drew attention of many countries. The wireless telegraphy is the result of Popov’s experiments, this fact having been acknowledged by different representatives of foreign science, engineering and industry. Popov was offered immense profits from commercial side of his invention in case he leaves Russia, but he preferred to remain a true son of his fatherland. “I am a Russian and I must give all my knowledge, all my work and all my achievements to my native land”, were his words. 

	5
	It is impossible to say that nobody in Russia understood and appreciated the great work carried out by Popov. On the contrary, the leading representatives of Russian science realized the significance of his invention. However, the tsarist government did nothing to provide the training of specialists for the newly born branch of science and engineering. Neither was home production of devices for wireless telegraphy organized in Russia. Instead it was handed over to foreign companies. By 1914, the beginning of the first imperialistic war, the results of Popov work had been concentrated in foreign hands. Even the supply of the Russian army with radio devices depended upon a German concern in Berlin.


Прочтите пояснения к тексту:

electrical oscillations – электрические колебания
electric power station – электростанция
thunderstorm – гроза
audible signals – звуковые сигналы
battleship – линейный корабль
realized the significance … – поняли важность … 

in case he leaves Russia – в случае, если он покинет Россию

II. Какое из данных утверждений выражает основную идею текста:

1. The conditions of life of Russian scientist under tsarism.

2. A.S. Popov and his inventions in the field of radio-engineering.

3. Contribution made by Popov and Marconi into the development of communication.

III. Соответствуют ли данные утверждения содержанию текста:

1. Later Popov perfected the device demonstrated on April 25, 1895.

2. The receiver was used at the electric power station in 1895.

3. Popov’s radio telegraph found practical application in the Navy (ВМФ).

4. A.S. Popov made reports about his invention at different scientific societies.

5. The tsarist government paid particular attention to training specialist for the new branch of engineering.

IV. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. Where did A.S. Popov demonstrate his invention?

2. What hope did he express demonstrating his device?

3. What was the device used for?

4. Who pretended to be the inventor of the radio?

5. When did Popov’s radio telegraph help to save the battleship?

6. Who acknowledged the fact of inventing wireless telegraphy?

7. What did Popov refuse to do?

8. Who realized the importance of this invention in Russia?

9. How did the government appreciate the contribution made by Popov?

10. What plant produced devices for wireless telegraphy in Russia?

V. Ответьте письменно на вопросы к тексту:

1. What did Popov attach to his device after it had been successfully tested?

2. Why did Popov refuse to go abroad?

3. Who was the production of radio devices handed over to?

VI. Переведите письменно 4 и 5 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 5

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to become, importance, discovery, immeasurable, finding, to include, foundation, branch, moderate, extent, throughout, to exercise, influence, joint, to lead, to award, to establish, to enable, to transform, purpose, to render, to realize, power, property, recognition, direct, ray, invisible, to give off.
Лексика

I.    Выберите русское словосочетание, соответствующее данному английскому:

	1.
	the importance of Curie’s discoveries
	a) важные открытия Кюри

b) важность открытия Кюри

	2.
	exercised a great influence
	a) оказал огромное влияние

b) находился под большим влиянием

	3.
	resulted in the discovery
	a) привели к открытию

b) явились результатом открытия

	4.
	are based on piezoelectronical transformers
	a) основаны на пьезоэлектрических трансформаторах

b) являются основой пьезоэлектрических трансформаторов


II. Из данных слов выберите то, которое закончит предложение:

5. Among the scientists who studied the … of radium was Ernest Rutherford.

a) means 

b) properties 
c) techniques
6. Rutherford … the nuclear theory of atomic structure.

a) established 
b) transformed 
c) contained

7. Their discoveries have become the … for several branches of industry.

a) choice 

b) recognition 
c) foundation

8. Experimenting is widely used in different … of science and industry.

a) forces 

b) properties 
c) branches

9. Pierre Curie established a … connection between the symmetry of crystals and their properties.

a) direct 

b) natural 

c) mechanical

III. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

10. Pierre Curie worked in the fields of electricity, magnetism and radioactivity.

a) methods 

b) branches 
c) purposes

11. Pierre Curie’s first study was the physics of crystals.

a) discovery 
b) research 

c) findings

12. The principal work of Pierre Curie and his wife was in the field of radioactivity.

a) main 

b) important 
c) dangerous

13. Their joint work led to the discovery of radium.

a) enabled 

b) proved 

c) resulted in

14. Pierre Curie understood what great reserves of energy were contained in radium.

a) realized 

b) rendered 
c) exercised

IV. Подберите к началу предложения из колонки А окончание предложения в колонке В. Полученные предложения переведите:

	15.
	In 1898 Marie and Pierre Curie
	a)
	with the rays of uranium.

	16.
	This strange discovery was 
	b)
	importance for world science.

	17.
	The new discovery was of tremendous
	c)
	called “natural radioactivity”.

	18.
	Rutherford made a series of experiments
	d)
	that are dangerous for people.

	19.
	Uranium gives off invisible rays
	e)
	obtained a new substance.


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать формы и функции герундия, формы и функции причастия, независимый причастный оборот. Упражнения на словообразование включают суффиксы -ment, -tion, -ance, -y, -ant, -ity, -er, -able, -ic.

I.     Используя суффиксы –tion, -ance, -ant, -ity, -y, -er, -able, -ic, образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	important
	5.
	radioactive

	2.
	measure
	6.
	recognize

	3.
	assist
	7.
	transform

	4.
	discover
	8.
	atmosphere


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to exist, to develop, to investigate, to discover, to radiate и переведите их.

9. Pierre and Marie Curie continued their … and discovered radium.

10. They found that the strength of the … depends on temperature and pressure.

11.  Mendeleev predicted the … of missing elements.

12.  In 1896 Henry Bacquerel made his … of radioactivity.

13.  The study of rays greatly contributed to the … of the atomic theory.

III. Выберите предложение, в котором Participle II выполняет роль определения и переведите его.

14.  D.I. Mendeleev formulated the Periodic Law of elements.

15.  According to the data obtained the test was successful.

16.  The electrical properties of germanium may change considerably when exposed to light.

IV. Выберите правильный перевод выделенных слов с суффиксом –ing.

17.  Testing the engineer applied new methods.

a) проверяя 
b) проверка 

с) проверенный

18.  Measuring temperature is necessary in many experiments.

a) измеряя 

b) измерение 

с) измеренный

19.  Describing the experiment he gave every detail of the process.

a) описывая 
b) описание 

с) описанный

V.     Выберите подходящие по смыслу причастия. Предложения переведите.

20.  Having finished / Finished the research the scientist made a detailed analysis of the data.

21.  If heated / heating molecules of the material move faster.

22.  Speaking / Spoken about the new methods of work the engineer told us many interesting facts.

23.  The neutrons produced / producing during the experiments have high energies.

VI. Выберите и переведите предложения, содержащие независимый причастный оборот.

24.  The experiments having been carried out, we started new investigations.

25.  Having discovered the properties of the electron, scientists used it for the service of man.

26.  The importance of Curie’s discoveries has grown considerably, his findings having been included in all physics textbooks.

27.  The discovery of the neutron was an important step leading to the understanding of nuclear structure.

Понимание прочитанного

I. Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

Pierre Curie. A great Physicist

	1.
	On April, 19, 1906, the scientists of all countries were shocked on the news of Pierre Curie having become the victim of a road accident. Since then the importance of Curie’s discoveries has grown to an immeasurable extent, his findings having been included in all physics text throughout the world. They are known to have the foundation for several branches of industry and, first and foremost, the atomic industry. This is why scientists and public opinion as a whole throughout the world honour the memory of this remarkable French scientist. 

	2.
	Pierre Curie, the son of a doctor of moderate means, was born on May, 15, 1859. His father, who took interest in natural sciences, exercised a great influence on the choice of his son’s future career. At the age of 18 the talented youth started work as a laboratory assistant at the Sorbonne University. In 1895 he was already a well-known scientist with a doctor’s degree. It was then that he married his colleague Marie Sclodowska, who became his scientific associate. Their joint work in the study of radioactivity which led to the discovery of radium is widely known all the world over. In 1904 they were both awarded the Nobel Prize which was at that time the highest scientific recognition.

	3.
	Pierre Curie’s principal work was in the fields of electricity, magnetism and radioactivity, his first studies being on the physics of crystals and on piezoelectricity. At the time his remarkable discoveries in this branch of science were made, the very term “physics of crystals” was as yet unknown. Pierre Curie established a direct connection between the symmetry of crystals and their physical properties, which resulted in the discovery of the piezoelectric properties of crystals. This discovery opened a way to an extremely wide field of technique enabling scientists to transform mechanical forces into electrical ones and vice versa. Underwater and atmospheric sound emitters are now based on piezoelectrical transformers.

	4.
	The joint work of Pierre Curie and his wife Marie Sclodowska in the field of radioactivity has now led to the discovery of methods for using atomic energy for peaceful purposes. This is the great service rendered by the two scientists to science and mankind as a whole.

	5.
	At the beginning of the 20th century Pierre Curie realized what great reserves of energy were contained in radium. But he also realized that this power could be used by some not for the good of people but for their ruin. 

	
	On being awarded the Nobel Prize, he said “Radium could prove extremely dangerous if it fell into criminal hands” and he called on scientists to use the discovery of radioactivity for peaceful purposes alone.


Прочтите пояснения к тексту:

throughout – повсюду, везде
first and foremost – прежде всего
moderate – умеренный, небольшой

means – средства, состояние

It was then that … - Именно тогда …

vice versa – наоборот

Sorbonne – Сорбонна (парижский университет)

underwater and atmospheric sound emitter – подводный и атмосферный звуковой излучатель

call on – призывать
II. Какое из данных утверждений выражает основную идею текста:

1. The joint work of Pierre and Marie Curie in the field of radioactivity.

2. Pierre Curie, a French scientist who greatly contributed to the development of science and several branches of industry.

3. The discovery of radioactivity and the development of atomic industry.

III. Соответствуют ли данные утверждения содержанию текста:

1. Pierre Curie is a great scientist and he is honoured all over the world.

2. The very choice of his future career was under the great influence of his father.

3. His first studies were in the field of radioactivity.

4. The joint work of the two scientists was of the greatest importance for mankind.

5. Pierre Curie was awarded the Nobel Prize for his work in the field of electricity and magnetism.

IV. Есть ли в тексте ответы на поставленные вопросы? Если да, то укажите номер абзаца, в котором находится ответ.

1. Where was Pierre Curie born?

2. What was his father interested in?

3. Where did Curie start working as a laboratory assistant?

4. What was the subject of his doctorate research?

5. What led Pierre Curie to the discovery of the piezoelectric properties of crystals?

6. When was the term “physics of crystals” used?

7. What devices are now based on piezoelectrical transformers?

8. What has the joint work of Pierre and Marie Curie in the field of radioactivity led to?

9. What are advantages and disadvantages of using atomic energy?

10. What did Pierre Curie call scientists on?

V. Ответьте письменно на вопросы к тексту:

1. What field of science did Pierre and Marie Curie work in?

2. What did Pierre Curie realize over a century ago?

3. When did he die and under what circumstances?

VI. Переведите письменно 2 и 3 абзацы.

КОНТРОЛЬНАЯ РАБОТА № 6
Вариант A
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to appreciate, to impact, to emerge, to consider, computation, trading, transaction, abacus, significant, collector, numerical, movable, mathematician, philosopher, analytical, theoretically, practical, to inform, to process, to operate, enormous, electronic, real, invention, evolution, to compile, to decipher, to develop, census, data.

Лексика

I.     Выберите русское словосочетание, соответствующее данному английскому:

	1.
	ticket collector
	a) сборщик билетов (проводник)

b) билетный кассир

	2.
	Pascal’s calculator
	a) счетчик Паскаля
b) калькулятор Паскаля

	3.
	census data
	a) данные переписи населения

b) обработка переписи населения

	4.
	data operations
	a) оперирование данными

b) операционные данные

	5.
	vacuum tube
	a) вакуумная лампа

b) безвоздушная лампа


II. Из данных слов выберите то, которое закончит предложение:

6. To understand the influence of a computer on our life, it is necessary to understand its … .

7. The abacus allowed the early merchants to make … .

8. A German mathematician invented a machine that could not only add but ….

9. Charles Babbage created a machine that can perform … .

10. Hollerith used perforated cards to store … .

data, multiply, transactions, evolution, differential equations.

III. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

11. The abacus emerged about 5000 years ago.

a) left 
b) lived 
c) appeared
12. Modern computers do much more than simply compute.

a) make 
b) add 
c) divide

13. G.W. von Leibniz improved Pascal’s calculator.

a) made better 

b) solved 
c) allowed
14. A calculator could perform 4 arithmetic functions.

a)invent 
b) do 

c) make

15. The invention of a transistor in 1488 made today’s computer possible.

a)creation 
b) generation 
c) operation

IV. Подберите к началу предложения из колонки А окончание предложения в колонке В. Полученные предложения переведите:

	16.
	Nothing changes modern life better
	a
	which could do sums up to eight figure long.

	17.
	This device allows users 
	b
	to make computations.

	18.
	A French ticket collector invented a numerical wheel calculator
	c
	to compute the USA census data.

	19.
	In 1889 Herman Hollerith’s calculating machine was used
	d
	to decipher German Codes in the World War II.

	20.
	The real computer Colossus was used
	e
	than a computer.


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать формы и функции герундия, формы и функции причастия, независимый причастный оборот. Упражнения на словообразование включают суффиксы –able, -ly, -ance, -ic, -ion, -ing, -al, -or, -ation.

I.    Используя суффиксы –ion, -ance, -ful, -ly, -al,-able, ic, -ing  образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	move
	5.
	practice

	2.
	wide
	6.
	process

	3.
	electron
	7.
	theoretical

	4.
	appear
	8.
	calculate


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to invent, to calculate, to appear, to compute и переведите их.

9.   American …, Herman Hollerith created a calculating machine in1889.

10. The first automatic … was built by Howard Alken of Harvard.

11. The … of a small transistor in 1948 made today’s computers possible.

12. The abacus allowed people to make … using a system of sliding beads arranged on a rack. 

III. Выберите предложение, в котором инфинитив выполняет роль определения и переведите его.

13. The data were collected during the experiments.

14. The experiments to be carried out in this laboratory will be very important.

15. Today there are computers to be carried in a pocket or about size of a typewriter.

IV. Какое из данных предложений можно перевести с союзом чтобы:

16. To use a computer in the work was our engineer’s decision.

17. To use a computer in the work we must study it well.

18. To use this device in the experiment we are to have special knowledge of it.

V. Выберите предложения, содержащие субъектный инфинитивный оборот (сложное подлежащее – Complex Subject) и переведите их:

19. This computing machine could perform 4 basic mathematic functions.

20. B. Pascal is known to be the first invention of the mechanical computer.

21. This computer happens to be too slow for our experiment.

VI. Выберите и переведите предложения, содержащие объектный инфинитивный оборот (сложное дополнение – Complex Object):

22. They consider this device to have been tested in our laboratory.

23. In 17th century it was possible for B. Pascal to invent a mechanical computer.

24. We watched the floppy disk begin to operate.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

	1.
	Nothing changes modern life better than computer. Today computers do much more than simply compute. To fully understand and appreciate the impact computers have on our lives, it is important to understand their evolution.

	2.
	The abacus, which emerged about 5000 years ago in Asia Minor and is fit still in use today may be considered the first computer. This device allows users to make computations using a system of sliding beads arranged on a rack. Early merchants used abacus to make trading transactions. But with the appearance of paper and pencil in Europe the abacus lost its importance.  

	3.
	It took nearly 12 centuries for the next significant advance in computing device to emerge. In 1642 Blaise Pascal, the 18-year-old son of a French ticket collector invented a numerical wheel calculator, which used eight movable dials to add sums up to eight figures long. In 1694 a German mathematician and philosopher Gottfried Wilhelm von Leibniz improved Pascal’s calculator by creating a machine that could also multiply. In 1820 Charles Xavier Thomas de Colmar, a French man, invented a machine that could perform 4 basic arithmetic functions: add, subtract, multiply and divide. This arithmometer was widely used until the First World War.

	4.
	The real beginnings of computers lay with an English inventor, mathematics professor Charles Babbage, who designed “an analytical machine” that theoretically could do some of the things a modern computer does. He proposed a machine to perform differential equations. Powered by steam and as a locomotive, the machine would have a stored program and could 

	
	perform calculations and print the results automatically. However it was never built.

	5.
	A more practical plan came from American inventor Herman Hollerith, who patented a calculating machine in 1889. His machine was used to compute the US census data. Hollerith’s method used perforated (punch) cards to store data which he fed up into machine that compiled the results mechanically. Punch cards were used for many data operations until 1960.

	6.
	The first generation of that can be called a real computer, not just a calculator, was the Colossus, which was used to decipher German codes World War II. It was built only for this task. The 1st general purpose computer is known as ENIAC – Electronic Numeral Integrator and Calculator, designed and built in America by J. Prosper Eckert and John W. Mauchly of the University of Pennsylvania in 1946. But it was enormous, because they used hundreds of vacuum tubes. The invention of a transistor in 1948, which does the same work as the vacuum tube, made today’s computers possible.


Прочтите пояснения к тексту:
Asia minor – Малая Азия
a system of sliding beads arranged on a rack – набор передвигающихся костяшек в рамке
abacus – счеты
It took nearly 12 centuries – потребовалось около 12 столетий
different equations – дифференциальные уравнения
to compute the US census data – подсчитать данные переписи США
which he fed into machine – данные, информация к-рую он подавал в машину

Colossus – Колосс, название 1-го компьютера

The 1st general purpose computer – первая вычислительная машина общего назначения

ENIAC – ЭНИАК, 1-ая ЭВМ общего назначения

punch cards - перфокарты

I.    Какое из данных утверждений выражает основную идею текста:

a) Different kinds of computers.

b) Computers: history and development.

II. В каком абзаце есть ответ на поставленный вопрос:

What kind of device did early merchants use to make trading transactions?

III. Расположите пункты плана в последовательности, соответствующей содержанию текста:

1. The real beginning of computers.

2. The appearance of ENIAC.

3. The 1st computing device.

4. The 1st patented calculating machine.

IV. Соответствуют ли данные утверждения содержанию текста:

1. The abacus may be considered the first computer because it allows users to make computations.

2. In 1642 French numerical calculator could add, subtract, multiply and divide.

3. In 1820 a French invented an arithmometer which could perform 4 arithmetic functions: add, subtract, multiply and divide.

4. Charles Babbage proposed a machine to perform differential equations.

5. In 1889 American calculating machine was used to decipher German codes during the War II. 

V. Ответьте письменно на вопросы к тексту:

1. Why did the abacus lose its importance?

2. What kind of system was used in abacus?

3. How did G.W. von Leibniz improve Pascal’s calculator?

4. What was used in a calculating machine for storing data processing operations?

VI. Переведите письменно 4, 5, 6  абзацы.

КОНТРОЛЬНАЯ РАБОТА № 6

Вариант B
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

to appreciate, to impact, to emerge, to consider, computation, trading, transaction, abacus, significant, collector, numerical, movable, mathematician, philosopher, analytical, theoretically, practical, to inform, to process, to operate, enormous, electronic, real, invention, evolution, to compile, to decipher, to develop, census, data.

Лексика
I. Выберите русское словосочетание, соответствующее данному английскому:

	1.
	mainframe computer 
	a) универсальный компьютер

b) блок обработки данных

	2.
	company performance
	a) производительность компании

b) представление компании

	3.
	communication network 
	a) средства коммуникации

b) коммуникативные сети

	4.
	storage device
	a) записывающее устройство

b) запоминающее устройство

	5.
	compact disc
	a) компакт-диски
b) компактные диски


II. Из данных слов выберите то, которое закончит предложение:

perform, contain, interface, store, operate

6. A computing machine can take and … a lot of information.

7. PC is designed to be used by a single person, it can quickly … calculations and instructions.

8. The 1st automatic computers could … at the low speed.

9. A chip … several hundred thousand electronic components (transistors, resistor etc.).

10. PCs can … with Internet and WWW to find any information you need.

III. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

11.  The smallest unit of information for a computer called a byte.

a) operation 
b) data 


c) selection

12.  The first microprocessor was created by Intel Corporation.

a) represented 

b) introduced 

c) constructed

13.  There are many complex parts and units in every computer.

a) similar 


b) important 

c) complicated

14.  After doing calculations a computer displays a result.

9. designed

 
b) constructing 

c) performing

15.  The information from PC is displayed on a monitor.

a) selected 


b) introduced 

c) shown 

IV.       Подберите к началу предложения из колонки А окончание предложения в колонке В. Полученные предложения переведите:

	16.
	Musicians use PCs
	a)
	such as Internet and World Wide Web

	17.
	PCs can also interface with communication networks
	b)
	for learning, creating and recording music

	18.
	PCs can perform logical and arithmetical operations
	c)
	or can be printed on laser printers.

	19.
	Information from PC can be shown on a monitor
	d)
	and it became the PC standard.

	20.
	The IBM Corporation represented IBM personal computer
	e)
	and run computer programs.


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать формы и функции инфинитива в предложении, инфинитивные обороты: Complex Object (сложное дополнение), Complex Subject (сложное подлежащее). Упражнения на словообразование включают суффиксы –able, -ly, -ance, -ic, -ion, -ing, -al, -or, -ation.

I. Используя суффиксы –ion, -ance, -ful, -ly, -al,-able, ic, -ing  образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	corporate
	5.
	permanent

	2.
	calculate
	6.
	print

	3.
	perform
	7.
	graphic

	4.
	process
	8.
	temporal


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to invent, to calculate, to appear, to compute и переведите их.

9. American … Steven Jobs and Stephen Wozniac designed Apple II in 1977.

10. The 1st general purpose … which is known as ENIAC was designed in 1946.

11. A computer can process many kinds of ….

12. The … of a transistor in 1948 made today’s computer possible.

III. Выберите предложения, в которых инфинитив выполняет роль определения и переведите их.

13. Personal computer is a machine to be used by a single person.

14. Foreign correspondents use laptops to compose new stories and submit them from remote locations.

15. The device to be used in our experiment is very complicated.

IV. Какое из данных предложений следует перевести, начиная союзом чтобы:

16. To write a program the programmer must have a good understanding of the problem for the computer.

17. To use this device in the experiment was our decision.

18. To find some information on any subject the students use Internet.

V. Выберите предложения, содержащие субъектный инфинитивный оборот (сложное подлежащее – Complex Subject) и переведите их:

19. The Altair is considered to be the first PC.

20. The Apple Macintosh developed a graphical user interface in 1984.

21. The input and output devices are known to be the parts of a computer.

VI. Выберите и переведите предложения, содержащие объектный инфинитивный оборот (сложное дополнение – Complex Object):

22. Our engineers want the complex problems to be solved by the computers.

23. Ch. Babbage proposed “an analytical machine” to do arithmetical functions.

24. They consider this PC to store programs and data.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

	1.
	Personal computer (PC) is a machine which quickly performs calculations and instructions. Designed to be based by a single person, a PC is smaller, less expensive and easier to use then supercomputers, mainframe computers.

	2.
	PC have revolutionized science, art, mass media, medicine, education, business. Musicians use them for learning, creating and recording music. Businesses track finance and forecast company performances using PCs. Foreign correspondents can compose new stories on portable PCs, called laptops and electronically submit these stories from remote locations. 

	
	Many people work at home and communicate with workers via their PCs in a practice known as telecommunicating. PCs are also able to interface with worldwide communication networks such as Internet and www (world wide web) to find information on any subject.

	3.
	PCs consist of a microprocessor which directs logical and arithmetical functions and runs computer programs. It also has electronic memory to temporarily store programs and data, and mass storage devices such as hard, floppy and compact discs (CD-ROM) devices – to permanently store programs and data. Information and commands are entered by the user via a keyboard or by a mouse. Information from the PC is displayed on a video monitor on a liquid crystal display (LCD) video screen, or it can be printed on laser or inkjet printers.

	4.
	In 1940s, early computers were the size of houses and were very expensive. The invention of integrated circuits and microprocessors enables computer makers to combine the essential elements of a computer onto silicon computer chips. The first microprocessor the Intel 4004, created by Intel Corporation was designed to be the computing and logical processor of calculators and watches. From its simple design modern microprocessor involved.

	5.
	The Altair 8800 is considered to be the 1st PC. It appeared on the cover of Popular Electronics Magazine in 1975 and inspired many computer enthusiasts to produce hardware and software.

	6.
	American computer designers Steven Jobs and Stephen Wozniak, working in their garage, created Apple II in 1977, one of the 1st PCs to incorporate a colour video display and a keyboard that made a computer easy to use. In 1981 International Business Machine (IBM) Corporation introduced the IBM PC, which became the PC standard. The Apple Macintosh, developed in 1984, featured a graphical user interface (GUI) – a visual appealing way to represent computer commands and data on the screen. The Macintosh combines icons (pictures that represent files and programs) with windows (boxes that each contain an open file or program). Information on the screen was controlled by a device known as a mouse. During the last 20 years, computing power has doubled about every 18 months thanks to the creation of faster microprocessors, development of new storage technologies. These technological advances will make PCs more powerful and useful.


Прочтите пояснения к тексту:

mainframe computer – универсальный компьютер

laptops – портативный компьютер, ноутбук

www – всемирная сеть, паутина

via their PCs – с помощью (через) персональный компьютер

to temporarily / permanently store programs – временное / постоянное хранение программ

via keyboard or by a mouse – с помощью клавиатуры или мыши
integrated circuits – интегральные цепи
thanks to – благодаря 

I. Какое из данных утверждений выражает основную идею текста:

a) The History of PC

b) The 1st PC
II. В каком абзаце есть ответ на поставленный вопрос:

What is the function of microprocessor of a PC?

III. Расположите пункты плана в последовательности, соответствующей содержанию текста:

1. The parts of PC

2. The appearance of the 1st PC

3. The usage of PC in different branches

4. The Macintosh GUI
IV. Соответствуют ли данные утверждения содержанию текста:

1. PC can interface with Internet and www to find necessary information.

2. Many people work at home and they can communicate with the workers with the help of PCs.

3. The PCs don’t have electronic memory and can’t store programs and data.

4. Apple II is considered to be the first PC.

5. The Macintosh GUI combines icons with windows (boxes that teach contain an open file or a program).

V. Ответьте письменно на вопросы к тексту:

1. Why is this machine called a personal computer?

2. Who can use PC in their work?

3. What are the main parts of PC?

4. What has happened with PC for the last 20 years?

VI. Переведите письменно 4, 5, 6  абзацы.

КОНТРОЛЬНАЯ РАБОТА № 6

Вариант C
Для выполнения данной контрольной работы рекомендуется найти по словарю значения заданных слов и словосочетаний, постараться их запомнить, а затем перейти к выполнению контрольной работы:

software, hardware, data, to complete, to conduct, to instruct, to process, to perform, to compare, application, communication, to boot, to load, to install, to satisfy, to attract, to transfer, to provide, to process, security, error, to handle, network, to aid, equipment, to require, to output, to input, memory, capacity, to include, to operate, to design, to devise.

Лексика

I.    Выберите русское словосочетание, соответствующее данному английскому:

	1.
	memory capacity
	a) способность памяти

b) объем памяти

	2.
	the driver program
	a) программное устройство

b) передача программы

	3.
	data communication
	a) защитная коммуникация

b) информационная связь

	4.
	application program
	a) прикладная программа
b) применения программы

	5.
	data security
	a) защита данных

b) обеспечение информации


II. Из данных слов выберите то, которое закончит предложение:

produce, instructs, think, requires, to perform

6. A computer … a special software to perform different activities of a computer.

7. Software … the hardware how to perform data processing.

8. A general purpose computer requires a software … a task.

9. If you want to buy a printer you must … about the driver program.

10. The developing of electronic network communication make companies … different kinds of software.

III. Из предложенных слов выберите то, которое наиболее близко передает значение подчеркнутого:

11.   A general-purpose computer can handle many kinds of jobs.

a) execute 

b) complete 
c) provide

12. A special purpose computer is designed to do one specific job for a particular use.

a) to put out 

b) to take in 

c) to carry out

13.   It was Pascal who invented the 1st mechanical computer.

a) devised 

b) included 

c) booted
14.  Memory unit is a part of a computer which stores information.

a) calculation 
b) operation 
c) data

15.  After performing calculations a computer displays the results.

a) transmits 
b) shows 

c) receives

IV. Подберите к началу предложения из колонки А окончание предложения в колонке В. Полученные предложения переведите:

	16.
	System software controls
	a)
	for the specific pieces of hardware.

	17.
	System programs are designed
	b)
	is a collection of system programs.

	18.
	The developers of application software try to do their best
	c)
	standard internal computer activities.

	19.
	An operating system
	d)
	transfers data from one computer system to another.

	20.
	Communication software
	e)
	to attract more users to their software.


Грамматика

Для успешного выполнения заданий по грамматике необходимо проработать формы и функции инфинитива в предложении, инфинитивные обороты: Complex Object (сложное дополнение), Complex Subject (сложное подлежащее). Упражнения на словообразование включают суффиксы –ic, -ion, -ty, -ation, -or, -er, -al, -ing, -ous, -ly, -ment.

I.    Используя суффиксы образуйте от данных ниже основ слова. Определите часть речи и переведите.

	1.
	usual
	5.
	vary

	2.
	specify
	6.
	secure

	3.
	productive
	7.
	physical

	4.
	equip
	8.
	electron


II. Закончите предложения, употребив существительные, образованные от следующих глаголов: to inform, to program, to apply, to compute и переведите их.

9.  A computer can process a lot of ….

10.  … software satisfies your specific need.

11.  Special purpose … is much faster than general-purpose computer.

12.  … must do a program to divide accurate instructions to the computer.

III. Выберите предложения, в которых инфинитив выполняет роль определения и переведите их.

13. This software contains information about model of the processor, the disk drivers to be used.

14. We know Pascal to be the first inventor of the mechanical computer.

15. The input device to be described in this magazine is a new one.

IV. Какое из данных предложений следует перевести, начиная союзом чтобы:

16. To find disadvantages of the device we must examine it.

17. The instructions are recorded in the order they are to be carried out.

18. The programmer must include all kinds of devices to make software interface look more attractive to the user.

V. Выберите предложения, содержащие субъектный инфинитивный оборот (сложное подлежащее – Complex Subject) и переведите их:

19. A human being is known to write by hand at the rate of about 30 words per minute.

20. An assistant came to instruct the students how to write this program.

21. Our programmers are certainly to be studying the theory of programming.

VI. Выберите и переведите предложения, содержащие объектный инфинитивный оборот (сложное дополнение – Complex Object):

22. The developers of application software want more and more users to attract to their software.

23. We asked our lab assistant to show as a new computer.

24. We saw application software start to work.

Понимание прочитанного

Прочитайте текст, вдумайтесь в его содержание, постарайтесь понять его, чтобы выполнить задания после текста:

	1.
	A computer to complete a job requires more than just the actual equipment or hardware we see and touch. It requires software – programs for directing the operation of a computer or electronic data. Software is the final computer system component. These computer programs instruct the hardware how to conduct processing. The computer is merely a general – purpose machine which requires specific software to perform a given task. Computers input, calculate, compare and output data as information. Software determines the order in which these operations are performed.

	2.
	Programs usually fall into 2 categories: system software and application software. System software controls standard internal computer activities. An operating system, for example, is a collection of system programs that aids in the operation of a computer regardless of the application software being used. When a computer is first turned on, one of the system programs is booted or loaded into the computer’s memory. This software contains information about memory capacity, the model of the processor, the disk drives to be used and so on. Once the system software is loaded, the application software can start to work.

	3.
	System software or programs are designed for the specific pieces of hardware. These programs are called drivers and coordinate peripheral hardware and computer activities. User needs to install a specific driver to activate his or her peripheral device. For example, if you intend to buy a printer or a scanner you need to worry in advance about the driver program which go along with your device. By installing the driver, you “teach” your main board “to understand” the newly attached part. 

	4.
	Application software satisfies your specific need. The developers of application software are trying to do their best to attract more users to their software. As the productivity of the hardware has increased greatly in recent years, the programmers nowadays tend to include all kinds of devices in one programs to make software interface look more attractive to the user. This class of programs is the most numerous and perspective from the marketing point of view.

	5.
	Data communication within and between computer systems is handled by system software. Communication software transfers data from one computer system to another. These programs usually provide users with data security and error checking along with physically transferring data between the two computer’s memories. During the past five years the developing electronic network communication has stimulated more and more companies to produce various communication software, such as Web-Browsers for Internet.


Прочтите пояснения к тексту:
a general purpose machine (computer) – вычислительная машина общего назначения
system software – системное программное обеспечение

application software – прикладное программное обеспечение

regardless – несмотря на

drives – устройства

driver – драйвер, программное устройство

main board – материнская плата

to do their best – делать самое лучшее
Web-Browser – Web-браузер (обозреватель)

I.    Какое из данных утверждений выражает основную идею текста:

a)  From the history of software.

b)  Two types of software.

II. В каком абзаце есть ответ на поставленный вопрос:

What do the computer programs do with the hardware?

III. Расположите пункты плана в последовательности, соответствующей содержанию текста:

1. The purpose of communication software.

2. Two types of programs.

3. The aim of software.

4. System programs.

IV. Соответствуют ли данные утверждения содержанию текста:

1. A computer to complete a job requires only hardware.

2. Software instructs the hardware how to conduct processing.

3. All programs can be divided into 3 groups.

4. System programs or drivers can coordinate peripheral hardware.

5. New types of application software are very perspective nowadays.

V.    Ответьте письменно на вопросы к тексту:

1. Why is software necessary for a computer to complete a job?

2. What does software contain when a computer is first turned a job?

3. What is the aim of system software?

4. What is the purpose of communication software?

VI. Переведите письменно3, 4, 5  абзацы.

КОНТРОЛЬНАЯ РАБОТА № 7

Вариант A
I. Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

20th Century: Assessing Technology

and its Effects on Society

	1.
	The increasing pace of technological change in the 20th century makes it difficult to place recent developments into perspective. New materials, ranging from synthetic rubber through plastics and artificial fabrics, have 

	
	affected ways of life and fashion. Following the establishment of the assembly line by Henry Ford in 1913, the automobile became inexpensive enough for many to afford and changed the landscape in industrialized nations. The aircraft industry grew within decades after the first powered flight by the Wright brothers in 1903.

	2.
	Although early computing machines existed by World War II, it took the invention of the transistor in 1948 to make modern computers and office machines a reality. Nuclear power was introduced after the World War II, and the space age began with the first Soviet spacecraft in 1957. Many of these developments depended on the advances in science that were required before their adaptation by engineers.

	3.
	Medical technology, which started with better sanitary practices in the 19th century, was expanded by the use of new medicines and new equipment. This nearly doubled the life span of a person living in an industrialized country compared to 100 years earlier. New technologies in biology led to genetic engineering, in which living cells can be altered.

	4.
	Technology keeps advancing at a rapid rate. It can only be guessed what the “information revolution” of the late 20th century will bring about. Technology has made modern society possible. It has increased the human life span and allowed a healthier life. It has added to leisure time and reduced the long hours of work. 

	5.
	Technology can allow the world to feed itself. It has reduced the effects of natural catastrophes such as famines and floods. The world is now a smaller place where people can readily communicate with each other and travel rapidly anywhere. Technology has raised the standard of living, at least in the developed nations, to a point unimaginable only a century ago.

	6.
	Yet a dark side of technology persists. The threat of nuclear war is foremost, though other dangers are also frightening. The effects of dumping poisonous waste and the continued pollution of the atmosphere are but two examples. Although 20th-century technology has created more jobs than have been lost, it still has left many individuals unemployed. The world has become smaller, but social and political institutions have not kept pace.


Пояснения к тексту:

pace – скорость, темп

powered flight – полет с работающим двигателем

the Wright brothers – братья Райт (авиаконструкторы и летчики, пионеры авиастроения)

it took … - потребовалось

by – к (при указании времени)

advance – успех, прогресс

life span – продолжительность жизни

keep – продолжать (делать что-либо)

bring about – вызывать

but – лишь, только

keep pace – идти в ногу

II. Ответьте на следующие вопросы к тексту:

1. What important technological achievement effected the landscape in industrialized countries?

2. When did the space age begin?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a. В своих разработках инженеры использовали сделанные ранее научные открытия.

b. Продолжительность жизни человека в экономически развитых странах увеличилась почти вдвое.

IV. Переведите письменно заглавие текста и абзацы 1, 4, 5, 6.

КОНТРОЛЬНАЯ РАБОТА № 7

Вариант B
I. Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

The Menace of the Micro

	1.
	Hardly a week goes by without some advance in technology that would have seemed incredible 50 years ago. Over the past 20 years computers have completely revolutionized our lives. Yet we can expect the rate of change to accelerate rather than slow down within our lifetimes. The next 25 years will see as many changes as have been witnessed in the past 150.

	2.
	These developments in technology are bound to have a dramatic effect on the future of work. By 2010, new technology will have revolutionized communications. People will be transmitting messages down telephone lines that previously would have been sent by post. Once these changes are introduced, not only postmen but also clerks and secretaries will vanish in a paper-free society. All the routine tasks they perform will be carried on a tiny silicon chip. As soon as this technology is available, these people will be as obsolete as the horse and cart after the invention of the motor car. One change will make thousands, if not millions, redundant.

	3.
	Even people in traditional professions are unlikely to escape the effects of new technology. Instead of going to a solicitor, you might go to a computer which is programmed with all the most up-to-date legal information. You might even come up before a computer judge who would judge your case more fairly than a human counterpart. Doctors, too, will find that an electronic competitor will be able to carry out a much quicker and more accurate diagnosis and recommend more efficient courses of treatment.

	4.
	In education, teachers will be largely replaced by teaching machines far 

	
	more knowledgeable than any human being. Most learning will take place in the home via video conferencing. Children will still go to school though, until another place is created where they can make friends and develop social skills through play.

	5.
	What can we do to avoid the threat of the dole queue? First of all we shouldn’t hide our heads in the sand. Unions will try to stop change but they will be fighting a losing battle. People should get computer literate as this just might save them from professional extinction. After all, there will be a few jobs left in law, education and medicine for those few individuals who are capable of writing and programming software of the future. Strangely enough, there will still be jobs like rubbish collection and cleaning as it is tough to program tasks which are largely unpredictable.


Пояснения к тексту:

would have seemed – показались бы
rather than – а не
are bound – непременно, обязательно

by – к (при указании времени)

once – как только

are unlikely – едва ли, маловероятно

fight a losing battle – вести бесполезную борьбу
silicon chip – кремниевый кристалл

II.  Ответьте на следующие вопросы к тексту:

1. How has our life been changed over the past 20 years?

2. What changes are bound to take place in communications?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a. Вероятно, мы будем свидетелями того, что количество достижений в области техники будет увеличиваться, а не уменьшаться.

b. Новые технологии в области связи приведут к тому, что почтальоны, секретари и канцеляристы станут такими же устаревшими, как гужевая тяга после изобретения автомобиля.

IV.  Переведите письменно заглавие текста и абзацы 3, 4, 5.

КОНТРОЛЬНАЯ РАБОТА № 7

Вариант C
I. Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

the International Space Station

	1.
	The International Space Station (ISS), the most complex and expensive structure that has ever been launched and built in space, is expected to be a permanent off-planet extension of human civilization. When completed, it will be a multi-room hotel and research facility orbiting the Earth. By that time, resupply and assembly flight by shuttles and rockets will have 

	
	become routine.

	2.
	The Russians and Americans are partners in this international enterprise. The three-person multi-national crews will be alternately composed of two Americans and one Russian followed by a Russian majority. Later a six- or seven-person crew will occupy the station. Some astronauts may stay on the ISS up to 187 days, but there are no plans yet for longer missions. The official life expectancy of the station itself is 10 years, but it should last much longer.

	3.
	Built by a partnership of 16 nations, the ISS will consist of 36 modules and hundreds of individual elements that come from all over the world. The station involves the most technologically advanced nations – Russia, the United States, Canada, Japan, Brazil, and 11 European nations. There will be many interconnected parts from so many countries and it is very important that all these elements made by different suppliers should fit together properly and work exactly as planned.

	4.
	The ISS could not have been realized without previous extensive experience in operating the Russian Mir space station. Russia learned how to build and maintain complex structures in space. Mir also gave citizens of more than a dozen countries their first opportunity to explore space. Mir has proved to be the perfect training ground for the ISS: for more than a decade at least two humans were always in low Earth orbit. That is why it was planned that Russia would supply and deliver 12 modules for the future station. They are: the basic power module, the control, the life support, the service modules and others.

	5.
	What is the purpose of the ISS? It is a political program as well as a science program. This program is no longer only about conducting scientific investigations in the absence of gravity, or about establishing the base for a future trip to Mars. The ISS is more than merely the next great adventure of the space age. It is also about promoting international cooperation and creating thousands of peacetime jobs for highly skilled workers and engineers.


Пояснения к тексту:

life expectancy – предполагаемый срок службы
has proved to be … - оказался …

decade – десятилетие
life support – система жизнеобеспечения

service module – рабочий отсек

control module – отсек управления

II. Ответьте на следующие вопросы к тексту:

1. What is the International Space Station designed for?

2.   What countries took part in building the station?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a. Опыт, приобретенный при работе на станции Мир, был использован при реализации проекта МКС.

b. К тому времени полеты челноков и ракет для проведения монтажных работ и пополнения запасов станут обычным делом.

IV.Переведите письменно заглавие текста и абзацы 3, 4, 5 .

КОНТРОЛЬНАЯ РАБОТА № 8

Вариант A
I.   Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

Transport for Tomorrow

	1.
	One thing is certain about the public transport of the future: it must be more effective than it is today. The time is coming when it will be quicker to fly across the Atlantic to New York than to travel from home to office. The two main problems are: what vehicle shall we use and how can we plan our use of it?

	2.
	There is already a number of modern vehicles which are not yet in common use, but which may become a usual means of transport in the future. One of these is a small electric car: we go out into the street, find an empty car, get into it, drive to our destination, get out and leave the car for the next person who comes along. In fact, there may be no need to drive these cars. With an automatic guidance system for cars being developed, it will be possible for us to select our destination just as today we select a telephone number and our car will move automatically.

	3.
	For long journeys in private cars one can also use an automatic guidance system. Arriving at the motorway, a driver will select the lane he wishes to use, switch over to automatic driving and then relax – dream, read the newspaper, have a meal while the car does the work for him. Unbelievable? It is already possible. Just as in many ships and aircraft today we are piloted automatically for the greater part of the journey, so in the future we can also have this luxury in our own cars. 

	4.
	At present sophisticated electronics is playing a big part in current automatic research. For example, in every gasoline-powered car that General Motors Corporation makes there is a small computer continuously monitoring the exhaust. The device, about the size of a pack of cigarettes, adjusts the vehicle carburetor fuel intake to get the best fuel economy. Ford cars are equipped with an electronic instrument panel that, among other things, will calculate how far one can drive on the fuel left in the tank. It also will estimate the time of the arrival at destination and tell the driver what speed he has averaged since turning on the ignition. According to specialists these features made possible by microelectronics are only the beginning. Radar may control the brakes to avoid collisions, and a display screen may show the car’s position on the road.

	5.
	A Japanese company is designing a car of a new generation. When completed, the new model will have a lot of unusual characteristics. The cars four-wheel control system will ensure movement diagonally and even side-ways – like a crab, at right angles to the longitudinal axis. This is especially important when leaving the car in parking places. To help the driver get information while concentrating on the road the most important data will be projected on the windscreen. A tourist traveling in such a car will not lose his way even in Sahara with its impossible roads: a navigation Earth satellite will indicate the road.

	6.
	A new ceramic engine has been developed in Japan. Many important parts as pistons, pressure rings, valves and some others have been made of various ceramic materials, piston rings made of silicon materials being in many respects better than those of steel. They withstand temperatures up to 1000 C0. Therefore, the engine does not need a cooling system.


Пояснения к тексту:

guidance system – система наведения

to pilot – вести, направлять

sophisticated – сложный

gasoline-powered car – автомобиль с бензиновым двигателем

exhaust – выхлоп, выхлопная труба

intake – всасывание

instrument panel – приборная панель

ignition – зажигание

display screen – экран индикатора
control system – система управления

sideways – боком
longitudinal axis – продольная ось 

windscreen – переднее (ветровое) стекло

navigation Earth satellite – навигационный спутник Земли
piston – поршень

pressure ring – компрессионное кольцо

II. Ответьте на следующие вопросы к тексту:

1. What car may become a usual means of transport in the future?

2. In the future driving cars may become less tiring (утомительный). Why?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a) Настает время, когда люди с трудом будут добираться на работу из-за простаивания в “пробках” и малоэффективности автомобилей.

b) Для передвижения по городу можно будет воспользоваться общественными автомобилями.

IV. Переведите письменно заглавие текста и абзацы 4, 5, 6.

КОНТРОЛЬНАЯ РАБОТА № 8

Вариант B
I. Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

Made in Space

	1.
	This label “Made in Space” for industrial materials will probably surprise no one in the not so distant future. They may include superconductors, new kinds of alloys, substances with peculiar magnetic properties, polymers, plastics and so on. Numerous experiments carried out at the Russian orbital space stations have paved the way to the development of methods and means for industrial production of new materials with better qualities. Experts estimate that within a few coming years industrial production of various materials will be started in space.

	2.
	Conditions on board a space vehicle orbiting the earth greatly differ from those on its surface. All of these conditions can be simulated on the Earth, except for one prolonged weightlessness. Weightlessness can be created on the Earth, but only for a few seconds. A space flight is another matter: a satellite orbiting the earth is in a dynamic zero gravity state, i.e., when gravity is cancelled out by inertia. Many well-known processes go on differently due to the absence of weight. 

	3.
	In space there is no gravitational connection, i.e., movement of gases or liquids caused by difference of temperatures. It is well known that various defects in semiconductors occur because of convection. Biochemists also have to deal with the worst aspects of convection, for example, in the production of superpure biologically active substances. Convection makes it very difficult to produce them on the Earth.

	4.
	Following the launching of the first orbital station the specialists started experiments aimed at proving the advantages of the zero gravity state for the production of certain materials. In Russia all orbital stations from Salyut 5 onwards were used for that purpose. Since 1976 over 600 technological experiments have been carried out on board manned and unmanned space vehicles. The experiments proved that many of the properties of the materials obtained under the zero gravity condition were much better than those produced on the Earth. Besides, it has been found out that it is necessary to develop a new science – physics of the weightless state – which forms the theoretical basis for space industry and space materials study. 

	5.
	Special space vehicles will also be needed for industrial production of new generation materials. Research has shown that the acceleration rate on board these vehicles must be reduced to the minimum. It was found that space platforms in independent flight carrying the equipment were most suitable for producing materials. These vehicles will have to use their own propulsion systems to approach their base orbital station after a certain period of time. The cosmonauts on board the station can replace the speci

	
	mens.

	6.
	Many new and very interesting projects are planned for orbital stations. Here is one of them. Convection does not allow to grow large protein crystals on the Earth. But it is possible to grow such crystals under the zero gravity conditions and to study their structure. The data obtained can be useful for genetic engineering. Thus, it may be possible to make new materials in space and also to obtain valuable scientific data for new highly efficient technologies on the Earth.


Пояснения к тексту:

superconductor – сверхпроводник
alloy – сплав
pave the way (for) – подготовить почву (для) 

prolonged weightlessness – длительная невесомость
zero gravity state – состояние невесомости

space vehicle – космический корабль

i.e. (id est)– т.е. (то есть)

cancel out – нейтрализовать

gravity – сила тяжести

convection – конвекция (перенос тепла движущейся средой, например, потоками воздуха)

acceleration rate – степень ускорения
propulsion system – система тяги
genetic engineering –генная инженерия
manned space vehicle – космический корабль с человеком на борту

II. Ответьте на следующие вопросы к тексту:

a) What is the practical importance of orbital space stations?

b) What condition cannot be simulated on the Earth?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a) Настанет время, когда получение промышленных материалов в космосе станет обычным делом.

b) Земные условия значительно отличаются от тех, которые существуют на космическом корабле, вращающемся вокруг Земли.

IV. Переведите письменно заглавие текста и абзацы 4, 5, 6.

КОНТРОЛЬНАЯ РАБОТА № 8

Вариант C
I. Прочитайте текст, постарайтесь понять его, чтобы выполнить задания к тексту:

Power to the Station!

	1.
	Without electrical power, living on the International Space Station wouldn’t be possible. Even the air the crew breathe is created by using electricity to split water molecules. Electricity runs the Station’s air and 

	
	water systems, keeps the lights on, warms meals, and runs computers. It even lets crew members talk to school children by ham radio. Electricity does it all in this home in space.

	2.
	Supplying reliable electricity to a home 350 km above our planet is a big challenger. Constantly transporting fuel up from the surface would be far too expensive. The most practical solution is sunlight. Fortunately, solar power is plentiful. The trick is to convert the sun’s power into a useful form. Photovoltaic cells are the most practical way to extract power from sunlight in space. The photovoltaic cells are mounted on eight large structures called solar arrays, each measuring 34 metres long and 11 metres wide. The arrays together contain total of 262,400 solar cells and cover an area of about 2,500 m2 – more than half the area of an American football field. A computer – controlled gimball rotates the arrays to keep them tilted toward the sun. 

	3.
	But the sun is not always “up”, because the station spends up to 36 minutes in the Earth’s shadow during each 92 minute trip around our planet. During the shadow time the station relies on banks of nickel hydrogen batteries to provide continuous power. Switching back and forth between solar generated power and stored battery power was a challenge for designers of the Station’s power system. The entire electrical power supply has to be switched smoothly twice each orbit, distributing current flow to all outlets and devices.   

	4.
	The result of this carefully managed process is 110 KW of power. After life support, battery charging and other power management uses, 46 KW of continuous electric power are left over for research work and science experiments. That’s enough to run a small village of 50 to 55 houses. Storing and distributing electricity with batteries builds up excess heat that can damage equipment. The heat must be eliminated, so the Station’s power system uses ammonia radiators to dissipate the heat away from the spacecraft. 

	5.
	A second, not so obvious, problem could be dangerous for the astronauts themselves. The Station’s solar arrays carry a strong electric field. At the same time, the Station is zipping through the low-density plasma of the outer regions of the Earth’s atmosphere. A plasma is a gas, filled with charged particles that respond to electric fields-like the ones around the solar arrays. As a result, the hull of the Station becomes highly charged. Space walking astronauts could suffer shocks from touching the metal hull of the Station.

	6.
	To solve these problems the designers developed devices which neutralize the plasma charge on the hull, and circuit isolation devices, or CIDs, which let a space walking astronauts remove power from selected circuits. Without CIDs, large portions of the Station would have to be powered down during some space walks. Thanks to technological innovations such as 

	
	these, the lights are always shining brightly – and safely – on the International Space Station.


Пояснения к тексту:

crew – экипаж

to run – управлять, работать

ham radio – радиолюбительская связь

challenge – испытание, проба сил

photovoltaic cells – фотогальванический элемент

solar array – панель солнечной батареи

gimball – универсальный подвес

keep them tilted – удерживать их в наклонном положении

nickel hydrogen battery – батарея никель-водородных аккумуляторов

back and forth – туда и обратно
stored battery – аккумуляторная батарея
outlet – розетка

life support – жизнеобеспечение

ammonia radiator – аммиачный излучатель

zip – проноситься (как пуля)

like the ones around the solar arrays – подобные тем, которые окружают солнечные панели 

hull – корпус (корабля)

power supply – источник питания

II. Ответьте на следующие вопросы к тексту:

a) What is the main source of power of the International Space Station?

b) How long does it take the Station to make one trip around the Earth?

III. Выпишите из текста предложения, подтверждающие следующие высказывания:

a) Создание надежного источника энергии для космического “дома” является делом интересным, но требующим напряжения сил.

b) Находясь в тени Земли, станция получает энергию от аккумуляторных батарей.

IV. Переведите письменно заглавие и абзацы 4, 5, 6.
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